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Question Bank

1. The ratio in which the point (-1,4) divides the line joining (-7,1) and (3,6)

is

A. 2 :1

B. 3: 1

C. 1: 2

D. 3: 2

Answer: D

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_EyNGeh2XF9qw


View Text Solution

2. The point which divides the join of (1,2) and (3,4) externally in the ratio

1: 1

A. lies in the 1 st rant

B. lies in the 2 nd rant

C. lies in the 3rd rant

D. cannot be found

Answer: D

Watch Video Solution

3. The ratio in which the  -axis divides the line segment joining (-4,2) and

(8,3) is

A. 0.043055555555556

y

https://dl.doubtnut.com/l/_EyNGeh2XF9qw
https://dl.doubtnut.com/l/_zKRcUzvhbFhK
https://dl.doubtnut.com/l/_YC4FvTwF2o00


B. 0.085416666666667

C. -2: 3

D. 1:2

Answer: A

Watch Video Solution

4. The ratio in which  -axis divides the line segment joining (3,6) and

(12,-3) is

A. 0.084027777777778

B. 1: 2

C. 2: 1

D. -1: 2

Answer: A

Watch Video Solution

x

https://dl.doubtnut.com/l/_YC4FvTwF2o00
https://dl.doubtnut.com/l/_vOa4bIuR0cmf


5. The ratio in which (-3,4) divides the line joining (1,2) and (7,-1) is

A. 2: 5 externally

B. 5: 2 internally

C. 1: 5 externally

D. 1: 5 internally

Answer: A

Watch Video Solution

6. The points  and (3,1) are collinear then 

A. 1)

B. 2)

C. 3)3

D. 4)4

(a, 2a), ( − 2, 6) a =

3

4

4
3

https://dl.doubtnut.com/l/_vOa4bIuR0cmf
https://dl.doubtnut.com/l/_Xu0Va6yk5qDC
https://dl.doubtnut.com/l/_aneApP7fDFK6


Answer: B

Watch Video Solution

7. is the condition that the points 

A. form an equilateral triangle

B. are collinear

C. form a angled triangle

D.  is the | point of the line joining  and 

Answer: B

Watch Video Solution

⎡
⎢
⎣

x1 y1 1

x2 y2 1

x3 y3 1

⎤
⎥
⎦

= 0

(xi, yj), i = 1, 2, 3

(x2, y2) (x1, y1) (x3, y3)

https://dl.doubtnut.com/l/_aneApP7fDFK6
https://dl.doubtnut.com/l/_nSyrZjfHS2fo


8. The value of  for which the lines ,  and 

 meet at a point is

A. 2

B. 1

C. 4

D. 3

Answer: B

Watch Video Solution

λ 3x + 4y = 5 5x + 4y = 4

λx + 4y = 6

9. Area of the parallelograms formed by the lines 

 


A. 

B. 

4y − 3x − a = 0, 3y − 4x + a = 0

4y − 3x − 3a = 0, 3y − 4x + 2a = 0

a2

a2

7

https://dl.doubtnut.com/l/_qRRWcJy3PA22
https://dl.doubtnut.com/l/_Vv2AnA8MHCYE


C. 

D. 

Answer: C

Watch Video Solution

2a2

7

2a2

9

10. The vertices of a triangle are (0,3),(-3,0) and (3,0) . The coordinates of

its orthocentre are

A. (0,-2)

B. (0,2)

C. (0,3)

D. (0,-3)

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_Vv2AnA8MHCYE
https://dl.doubtnut.com/l/_Wtf1WqWwwYMw
https://dl.doubtnut.com/l/_Qbq1hwwK4Lv0


11. The fourth vertex of the square formed by points (2,1),(4,3),(-2,5) is

A. (2,3)

B. (-3,3)

C. (-4,3)

D. (4,3)

Answer: C

Watch Video Solution

12. Three vertices of a parallelogram taken in order are (-1,-6),(2,-5) and

(7,2), The fourth vertex is

A. (1,4)

B. (1,1)

C. (4,4)

D. (4,1)

https://dl.doubtnut.com/l/_Qbq1hwwK4Lv0
https://dl.doubtnut.com/l/_tiWEwPY0ma3P


Answer: D

Watch Video Solution

13. The vertices of a triangle are (0, 0), (3, 0) and (0, 4). Its orthocentre is

at:

A. (0,0)

B. 

C. 

D. (0,4)

Answer: A

Watch Video Solution

(1, )
4
3

( , 2)
3

2

14. The points  are the vertices of an equilateral

triangle. If  then the value of  is

(3, 2), ( − 3, 2), (0, h)

h ≤ 0 h

https://dl.doubtnut.com/l/_tiWEwPY0ma3P
https://dl.doubtnut.com/l/_vZ8QdwiG1dRh
https://dl.doubtnut.com/l/_CgIIdTYXVeqa


A. 

B. 

C. 

D. none

Answer: C

Watch Video Solution

2 − √27

3 + 2√3

2 + 3√3

15. The area of the quadrilateral formed by (2,-1) , (4,3),(-1,2) and (-3,-2) is

A. 54

B. 36

C. 18

D. 9

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_CgIIdTYXVeqa
https://dl.doubtnut.com/l/_0Vf6cIkywWau


16. If  form a parallelogram then 

A. (-4,-2)

B. (4,-2)

C. (-4,2)

D. (4,2)

Answer: D

Watch Video Solution

( − 2, 2), (1, 0), (x, 0), (1, y) (x, y) =

17. The mid points of  and  of the triangle  are 

 and  then 

A. (6,5)

B. (6,6)

C. (3,-3)

BC, CA AB ABC

D = (1, 2), E = (4, 3) F = (6, 4) A =

https://dl.doubtnut.com/l/_0Vf6cIkywWau
https://dl.doubtnut.com/l/_sXEX99vRkraS
https://dl.doubtnut.com/l/_4HvJs2Hnm0De


D. (9,5)

Answer: D

Watch Video Solution

18. The extremities of a diagonal of a parallelogram are (3,-4) and (-6,5) . If

the third vertex is (-2,1) then the fourth vertex is

A. (1,0)

B. (-1,0)

C. (1,1)

D. (-1,-1)

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_4HvJs2Hnm0De
https://dl.doubtnut.com/l/_8zpJ58Wia80X


19. Mid points of the sides  and  of a triangle  are (-3,-5) and

(3,3) respectively then the length of  is

A. 15

B. 10

C. 20

D. 30

Answer: C

Watch Video Solution

AB AC ABC

BC

20.  and  are the vertices of a

parallelogram  =

A. (15,19)

B. (-15 , 19)

C. (15,-19)

A = (3, 5), B = ( − 5, − 4) C = (7, 10)

ABCD

https://dl.doubtnut.com/l/_ZH5iQsKEnECU
https://dl.doubtnut.com/l/_yzJiRyiTYskA


D. (-15,-19)

Answer: A

Watch Video Solution

21. The base vertices of an isosceles triangle are (7,9) and (3,-7), then the

third vertex is

A. (13,1) or (-3,3)

B. (13,-1) or (3,-3)

C. (13,-1) or (-3,3)

D. (13,1) or (3,3)

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_yzJiRyiTYskA
https://dl.doubtnut.com/l/_h6MsSxljfN6v


22. The one of the possible third vertex of the equilateral triangle whose

two vertices are (3,4) and (-2,3)

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

( , )
1 − √3

2

7 + 5√3

2

( , ) ⋅ 0
1 − √3

2

7 − 5√3

2

( , )
1 + √3

2

7 + 5√3

2

( , )
1 + √3

2

1 − √3

2

23. The points (4,-1),(7,9) and (4,11) are the mid points of the sides of the

triangle. Then the centroid is

A. (5,-3)

B. (5, 3)

https://dl.doubtnut.com/l/_BiUATeWOWb2E
https://dl.doubtnut.com/l/_rdaYrRCGvI09


C. 

D. 

Answer: D

Watch Video Solution

( − 5, )
19

2

(5, )
19

2

24. The vertices of a triangle are (0,0),(0,2) and (2,0) .The distance between

the circumcentre and orthocentre is

A. 0

B. 

C. 

D. 1

Answer: B

Watch Video Solution

√2

1

√2

https://dl.doubtnut.com/l/_rdaYrRCGvI09
https://dl.doubtnut.com/l/_qWdOdxwbePHC
https://dl.doubtnut.com/l/_LWIg6MRiz3Lm


25. Two opposite vertices of a square are (1,-2) and (-5,6), then the other

two vertices are

A. (2,5),(-6,-1)

B. (-2,5),(6,1)

C. (2,-5),(6,-1)

D. none of these

Answer: A

Watch Video Solution

26. The length of the line segment joining A(2,3) and B is 10 units . If absc

is a of B is 10, its ordinate can be

A. 3 or 9

B. 3 or -9

C. -3 or 9

https://dl.doubtnut.com/l/_LWIg6MRiz3Lm
https://dl.doubtnut.com/l/_tDsqTlO10qEJ


D. -3 or -9

Answer: B

Watch Video Solution

27. The image of the point  w.r.t the line  is the point  and

the image of  along the line  is the point  then 

A. (5,3)

B. (5,-3)

C. (-5,3)

D. (-5,-3)

Answer: B

Watch Video Solution

P (3, 5) y = x Q

Q y = 0 R(a, b), (a, b) =

https://dl.doubtnut.com/l/_tDsqTlO10qEJ
https://dl.doubtnut.com/l/_sWc7SU2DXFzr


28. The centroid of the triangle  is (2,3) and 

then the area of the triangle 

A. 6

B. 9

C. 8

D. 5

Answer: B

Watch Video Solution

ABC A = (4, 2), B = (4, 5),

ABC

29. The circumcentre and the centroid of a triangle are (6,2) and (3,3) then

orthocentre is

A. (9,5)

B. (3,-1)

C. (-3,1)

https://dl.doubtnut.com/l/_6rY6EBUmrHVW
https://dl.doubtnut.com/l/_kfKYQWyQL1Sl


D. (-3,5)

Answer: D

Watch Video Solution

30. The orthocentre and centroid of a triangle are (-3,5),(3,3) then the

circumcentre is

A. (6,2)

B. (0,8)

C. (6,-2)

D. (0,4)

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_kfKYQWyQL1Sl
https://dl.doubtnut.com/l/_obXXK0usazBD


31. If the points (1, 2) and (3, 4) were to be on the same side of the line

, then :

A. 

B. 

C. 

D.  or 

Answer: D

Watch Video Solution

3x − 5y + a = 0

7 < a < 11

a = 7

a = 1

a < 7 a > 11

32. A (1, 3) and C(7, 5) are two opposite vertices of a square. The equation

of a side thro' A is :

A.  or 

B. 

C. 

x + 2y − 7 = 0 2x − y + 1 = 0

x − 2y + 5 = 0

2x + y − 5 = 0

https://dl.doubtnut.com/l/_UY2sQ2TD5Dhz
https://dl.doubtnut.com/l/_xnI3kQsNtDvG


D. none of 'these

Answer: A

Watch Video Solution

33. One of the equations of the lines passing through the point (3, -2) and

inclined at  to the line  is :

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

60∘ √3x + y = 1

y + 2 = 0

x − 3 = 0

x + y = 1

x + y = 1

https://dl.doubtnut.com/l/_xnI3kQsNtDvG
https://dl.doubtnut.com/l/_K8HEVgyRURdQ


34. The equation of the diagonal through the origin of the rilateral

formed by   and  is

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

x = 0, y = 0 x + y = 1 6x + y = 3

3x − 2y = 0

3x − y = 0

x − y = 0

3x − 4y = 0

35. The area of the triangle whose sides are along  and 

 is

A. 20

B. 10

C. 

x = 0, y = 0

4x + 5y = 20

1

10

https://dl.doubtnut.com/l/_bb9kDjZN9Mda
https://dl.doubtnut.com/l/_xkygFKJmkp94


D. 

Answer: B

Watch Video Solution

1

20

36. If a, b, c are in A. P., then st. line  will always pass

through a fixed point whose co-ordinates are:

A. (1,-2)

B. (-1,2)

C. (1,2)

D. (-1,-2)

Answer: A

Watch Video Solution

ax + by + c = 0

https://dl.doubtnut.com/l/_xkygFKJmkp94
https://dl.doubtnut.com/l/_MR6ft4SFQOfn


37. The number of lines that are parallel to  and have an

intercept 10 between the coordinate axes is

A. 1

B. 2

C. 3

D. infinitely many

Answer: B

Watch Video Solution

2x + 6y − 7 = 0

38. The inclination of the line through (-3,6) and the midpoint of the line

joining the point (4,-5) and (-2,9) is

A. 

B. 

C. 

π

4

π

6

π

3

https://dl.doubtnut.com/l/_gca4yRMxhTpw
https://dl.doubtnut.com/l/_4mDVu5pEOKY6


D. 

Answer: D

Watch Video Solution

3π

4

39. A line through the point  which makes an angle of  with

the positive direction of  -axis is rotated about A thro' an angle  in

the clockwise direction. The equation of the line in the new position is

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

A(2, 0) 30∘

x 15∘

(2 − √3)x − y − 4 + 2√3 = 0

(2 − √3)x + y − 4 + 2√3 = 0

(2 − √3)x − y + 4 + 2√3 = 0

(2 − , √3)x + y + 4 − 2√3 = 0

https://dl.doubtnut.com/l/_4mDVu5pEOKY6
https://dl.doubtnut.com/l/_jmCqtRb0KZFU
https://dl.doubtnut.com/l/_b6OFPSl4oEk8


40. The equation of the line which makes an angle  with the positive

direction of  -axis and cuts an intercept of length 4 on the negative

direction of y-axis is

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

15∘

x

(2 − √3)x − y − 4 = 0

(2 − √3)x + y − 4 = 0

(2 + √3)x − y − 4 = 0

(2 + √3)x + y − 4 = 0

41. Distance between the lines  and  is

A. A: 

B. B:

C. C: 

3x + 4y = 9 6x + 8y = 15

6

5

3

10

3

12

https://dl.doubtnut.com/l/_b6OFPSl4oEk8
https://dl.doubtnut.com/l/_Cvv4eLsRKhrf


D. D: 6

Answer: B

Watch Video Solution

42. If (-2,6) is the image of the point (4,2) with respect to the line 

then 

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

L = 0,

L =

3x − 2y + 5

3x − 2y + 10

2x + 3y − 5

6x − 4y − 7

https://dl.doubtnut.com/l/_Cvv4eLsRKhrf
https://dl.doubtnut.com/l/_MO8r6tDB1EQH


43. The reflection of the point (-3,4) in the line  is

A. (3,-4)

B. (4,-3)

C. (-3,-4)

D. (-4,3)

Answer: B

Watch Video Solution

x − y = 0

44. The reflection of the point (2,-5) along the line  is

A. (-2,5)

B. (-5,2)

C. (5,-2)

D. (2,5)

x + y = 0

https://dl.doubtnut.com/l/_GREeL0J65K4m
https://dl.doubtnut.com/l/_IDlZ29du46Qw


Answer: C

Watch Video Solution

45. The co-ordinates of the image of the origin O. w.r.t. st. line

 are :

A. 

B. (-2,-2)

C. (1,1)

D. (-1,-1)

Answer: D

Watch Video Solution

x + y + 1 = 0

( − , − )
1

2

1

2

46. The centroid of a triangle formed by the points (0, 0),

 lies on the line . Then  is :(cos θ, sin θ) and (sin θ, − cos θ) y = 2x θ

https://dl.doubtnut.com/l/_IDlZ29du46Qw
https://dl.doubtnut.com/l/_RAk7Wn7JXkWR
https://dl.doubtnut.com/l/_5PvHMG0yiwkB


A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

tan− 1 2

tan− 1(1)

3

tan− 1(1)

2

tan− 1( − 3)

47. Foot of the perpendicular from (-2,-1) on to the line 

is

A. (-1,4)

B. 

C. (1,1)

D. (3,-2)

Answer: C

3x + 2y − 5 = 0

(2, − )
1

2

https://dl.doubtnut.com/l/_5PvHMG0yiwkB
https://dl.doubtnut.com/l/_sjxFOFKtzoOe


Watch Video Solution

48. The equation of base of an equilateral triangle is  and

vertex is (2, -1). Then the length of the side of the triangle equals:

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

x + y = 2

√3

2

√
2

3

2√
3

2

√6

49. The medians AD and BE of a triangle with vertices A (0, b), B(0, 0) and

C(a, 0) are perpendicular ot each other if :

A. ab = 1

https://dl.doubtnut.com/l/_sjxFOFKtzoOe
https://dl.doubtnut.com/l/_fcz97BeLaRLk
https://dl.doubtnut.com/l/_2NcHNHPJfkZK


B. 

C. 

D. 

Answer: B

Watch Video Solution

a = ± 2√b

a =
b

2

b =
a

2

50. The equation of the line through (2,3) and parallel to

 is

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

2x − 3y + 1 = 0

2x − 3y + 3 = 0

2x − 3y − 3 = 0

2x − 3y − 5 = 0

2x − 3y + 5 = 0

https://dl.doubtnut.com/l/_2NcHNHPJfkZK
https://dl.doubtnut.com/l/_sjLKheAikyz2


51. The equation of the line whose intercepts on  axis and  -axis are

respectively twice and thrice of those by the line  is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

x = y

3x + 4y = 12

9x − 8y = 72

9x + 8y = 72

8x + 9y = 72

8x − 9y = 72

52. Equation of the bisector of the obtuse angle between the lines

 and  is

A. 

B. 

4x + 3y − 6 = 0 5x + 12y + 9 = 0

7x + 9y − 3 = 0

7x + 7y − 3 = 0

https://dl.doubtnut.com/l/_sjLKheAikyz2
https://dl.doubtnut.com/l/_S2OsneuFKHbm
https://dl.doubtnut.com/l/_7dMCa0vSI78A


C. 

D. 

Answer: C

Watch Video Solution

9x − 7y − 41 = 0

7x − 7y − 3 = 0

53. The equations of the bisector of the acute angle between the lines

 and  is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

3x + 4y − 11 = 0 12x − 5y − 2 = 0

11x + 3y + 17 = 0

11x + 3y − 17 = 0

11x − 3y + 17 = 0

11x − 3y − 17 = 0

https://dl.doubtnut.com/l/_7dMCa0vSI78A
https://dl.doubtnut.com/l/_rL8MbLEGNwhm
https://dl.doubtnut.com/l/_Pb33jjaHITBX


54. A point moves such that the area of the triangle formed by it with the

points (1,5) and (3,-7) is + 21 sq. units. The locus of the point is

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

6x + y − 32 = 0

6x − y + 32 = 0

x + 6y − 32 = 0

6x − y − 32 = 0

55. The locus of the point equidistant from (1,-1) and (-1,1) is

A. 

B. 

C. 

D. 

x + y = 0

x − y = 0

2y − x = 0

x + 2y = 0

https://dl.doubtnut.com/l/_Pb33jjaHITBX
https://dl.doubtnut.com/l/_BqaxqY3TjFAo


Answer: B

Watch Video Solution

56. The locus of the point whose distance from  -axis is twice its distance

from  -axis is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

x

y

y = x

y = 2x

x = y ′

x = 2y

57. Locus of a point which moves such that its distance from the X-axis is

twice its distance from the line x-y=0 is

https://dl.doubtnut.com/l/_BqaxqY3TjFAo
https://dl.doubtnut.com/l/_prcoTmvdx6Ja
https://dl.doubtnut.com/l/_a6DhWBHNFJNR


A. 

B. 

C. 

D. none of these

Answer: A

Watch Video Solution

x = 2y

y = 2x

x + y = 3

58. A straight rod of length 9 units slides with its ends A, B always on the

X and Y-axis respectively . Then the locus of the centroid of  is :

A. 

B. 

C. 

D. 

Answer: B

ΔOAB

x2 + y2 = 3

x2 + y2 = 9

x2 + y2 = 1

x2 + y2 = 81

https://dl.doubtnut.com/l/_a6DhWBHNFJNR
https://dl.doubtnut.com/l/_7YRzxChfxbh0


Watch Video Solution

59. The locus of the mid-point of the portion of the line

, which is intercepted between the axes is :

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

x cos α + y sin α = p

p2(x2 + y2) = 4xy

p(x2 + y2) = 4x2y2

p2(x + y) = x2y2

p2(x2 + y2) = 4x2y2

60. The locus of the point  is

A. 

B. 

x = a cos θ, y = b sin θ

− = 1
x2

a2

y2

b2

+ = 1
x2

a2

y2

b2

https://dl.doubtnut.com/l/_7YRzxChfxbh0
https://dl.doubtnut.com/l/_CCTZqwgBvsZB
https://dl.doubtnut.com/l/_Ei1SGkDjG8fO


C. 

D. 

Answer: B

Watch Video Solution

+ = 2
x2

a2

y2

b2

a2x2 + b2y2 = 1

61. The locus of the point   is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

x = a(cos θ + sin θ) y = b(cos θ − sin θ)

+ = 1
x2

a2

y2

b2

+ = 2
x2

a2

y2

b2

+ =
x2

a2

y2

b2

1

2

+ =
x2

a2

y2

b2

1

3

https://dl.doubtnut.com/l/_Ei1SGkDjG8fO
https://dl.doubtnut.com/l/_6WffHvhOb5lC


62. The locus of the point   is

A. circle

B. ellipse

C. parabola

D. hyperbola

Answer: B

Watch Video Solution

x = a + b cos θ y = b + a sin θ

63. The locus of the point   is

A. circle

B. ellipse

C. parabola

D. hyperbola

x = a + sec θ y = b + a tan θ

https://dl.doubtnut.com/l/_XAcjwGx2OEsJ
https://dl.doubtnut.com/l/_nx6LVMpYsnjO


Answer: D

Watch Video Solution

64. The locus of the point  is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

(a cos3 θ, a sin3 θ)

x − y = a
2
3

2
3

2
3

x + y = a
2
3

2
3

2
3

x + y = a
2
3

2
3

3
2

x + y = a
3
2

1
2

1
2

65. The locus of the point  where  is the parameter is

A. 

(a + bt, b − ),
a

t
t

(x − a)(y − b) = ab

https://dl.doubtnut.com/l/_nx6LVMpYsnjO
https://dl.doubtnut.com/l/_xAZyoNJf5hbN
https://dl.doubtnut.com/l/_50oZHbqlusOc


B. 

C. 

D. 

Answer: D

Watch Video Solution

(x + a)(y − b) = ab

(x − a)(y + b) = ab

(x − a)(b − y) = ab

66. A line segment  of length '  ' moves with its ends on the axes. The

Iocus of the point  which divides the line in the ratio 1: 2 is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

AB a

P

9x2 + 4y2 = a2

9(y2 + 4x2) = − 4a2

9(x2 + 4y2) = 4a2

9x2 + 9y2 = 4a2

https://dl.doubtnut.com/l/_50oZHbqlusOc
https://dl.doubtnut.com/l/_luaYoxeYb7z9


67. Distance between the parallel lines  and 

 is 4 . Then 

A. 54,26

B. -54,26

C. 54,-26

D. -54,-26

Answer: C

Watch Video Solution

3x + 4y + 7 = 0

6x + 8y + k = 0 k =

68. Equation of the line cutting off an intercept 2 from the negative

direction of the axis of  and inclined at  to the positive direction of

axis of  is

A. 

y 30∘

x,

y + x − √3 = 0

https://dl.doubtnut.com/l/_luaYoxeYb7z9
https://dl.doubtnut.com/l/_etkrUVZQwVtF
https://dl.doubtnut.com/l/_Y3uOlUMAtSqb


B. 

C. 

D. 

Answer: D

Watch Video Solution

y − x + 2 = 0

y − √3x − 2 = 0

√3y − x + 2√3 = 0

69. Equation of the line perpendicular to  and passing through (3,2)

is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

y = x

x − y = 5

x + y = 5

x + y = 1

x − y = 1

https://dl.doubtnut.com/l/_Y3uOlUMAtSqb
https://dl.doubtnut.com/l/_gW0VK0XQOSP0


70. The length of the perpendicular from the point 

upon the line  is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

(a cos α, a sin α)

y = x tan α + c, c ≤ 0,

c

c sin2 α

c cos α

c sec2 α

71. If the quadrilateral formed by the lines 

 


 have perpendicular diagonals,

then

ax + by + c = 0, a ′ x + b ′ y + c = 0

ax + by + c ′ = 0, a ′ x + b ′ y + c ′ = 0

https://dl.doubtnut.com/l/_gW0VK0XQOSP0
https://dl.doubtnut.com/l/_KdAeaKdtZaMj
https://dl.doubtnut.com/l/_iJknu30kcwCM


A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

b2 + c2 = (b ′ )
2

+ (c ′ )
2

c2 + a2 = (c ′ )
2

+ (ar)2

a2 + b2 = (a ′ )
2

+ (b ′ )
2

b2 + c2 = (b ′ )
2

+ (a ′ )
2

72. If the algebraic sum of the perpendicular distances from the points (2,

0), (0, 2) and (1, 1) to a variable st. line be zero, then the line passes thro'

the point :

A. (-1,1)

B. (1,1)

C. (1,-1)

D. (-1,-1)

https://dl.doubtnut.com/l/_iJknu30kcwCM
https://dl.doubtnut.com/l/_5mbk9QBS2NeZ


Answer: B

Watch Video Solution

73. A point moves in the  -plane such that the sum of its distances from

two mutually perpendicular lines is always equal to 3. The area enclosed

by the locus of the point is

A. 18 sq. units

B.  sq. units

C. 7 sq. units

D.  sq. units

Answer: B

Watch Video Solution

xy

9

2

7
2

https://dl.doubtnut.com/l/_5mbk9QBS2NeZ
https://dl.doubtnut.com/l/_72VCqwJe5EQB


74. The incentre of the triangle formed by the axes and the line

 is

A. 

B. 

C. 

D. (1,1)

Answer: D

Watch Video Solution

+ = 1
x

4

y

3

(2, )
3

2

( , )
12

7 + √7

12

7 + √7

( , 1)
4
3

75. The incentre of the triangle formed by  is

A. 

B. 

C. 

+ = 1
x

a

y

b

( , )
a

2
b

2

( , )
ab

a + b + √ab

ab

a + b + √ab

( , )
a

3
b

3

https://dl.doubtnut.com/l/_lBcYu9hZfmqb
https://dl.doubtnut.com/l/_ov3QfIXne9uq


D. 

Answer: D

Watch Video Solution

( , )
ab

a + b + √a2 + b2

ab

a + b + √a2 + b2

76. If the line segment joining (2,3) and (-1,2) is divided internally in the

ratio 3: 4 by the line  then  is

A. 

B. .

C. 

D. 

Answer: A

Watch Video Solution

x + 2y = k k

41

7

5

7

36

7

31

7

https://dl.doubtnut.com/l/_ov3QfIXne9uq
https://dl.doubtnut.com/l/_fJcaTOZdUR2Q


77. If  and  are four

points, if  then 

A. 

B. 

C. 3

D. 

Answer: A

Watch Video Solution

A = (6, 3), B = ( − 3, 5), C = (4, − 2) D = (x, 3x)

= ,
ar(ΔDBC)

ar(ΔABC)

1

2
x =

11

8

8
11

1

3

78. The point whose abscissa is equal to its ordinate and which is

equidistant from  and  is

A. (2,2)

B. 

C. 

A(4, 0) B(0, 5)

( , )
3
2

3
2

( , )
9
2

9
2

https://dl.doubtnut.com/l/_NL8NMnirLhUx
https://dl.doubtnut.com/l/_JsfbJO3JzmVQ


D. (-5,5)

Answer: C

Watch Video Solution

79.  and  are the vertices of a triangle . If the

centroid of this triangle moves on the line  then the locus of

the vertex  is the line

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

A(3, − 4) B( − 4, 3) ABC

3x − 2y = 4

C

2x + 3y = 13

3x + 2y = 13

3x − 2y = 13

2x − 3y = 13

https://dl.doubtnut.com/l/_JsfbJO3JzmVQ
https://dl.doubtnut.com/l/_WTf4CmAln1SU
https://dl.doubtnut.com/l/_3Bun6KR0diod


80. A square of side 2 units lie above the  -axis and has one vertex at the

origin. The side passing through the origin makes an angle  with the

positive direction of  -axis. The equation of its diagonal not passing

through the origin is

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

x

30∘

x

(√3 + 1)y + (√3 − 1)x = 4

(√3 − 1)y − (√3 − 1)x = 4

(√3 + 1)y − (√3 − 1)x = 4

(√3 + 1)y + (1 + √3)x = 4

81. A line meets the axes at  and  such that the centroid of the

triangle  is . The equation of the line  is

A. 

B. 

P Q

OPQ (h, h) PQ

x − y = 3h

x + y = 2h

https://dl.doubtnut.com/l/_3Bun6KR0diod
https://dl.doubtnut.com/l/_K9zdo3KUtRUh


C. 

D. 

Answer: C

Watch Video Solution

x + y = 3h

x + y = h

82. A point (3,-2) undergoes the following transformations  (i) reflection

about the line   (ii) translation through a distance 3 units along -ve 

 -axis then the co-ordinates of final position of the point is

A. (-2,0)

B. (3,-1)

C. (-2,6)

D. (-1,3)

Answer: A

Watch Video Solution

y = x

y

https://dl.doubtnut.com/l/_K9zdo3KUtRUh
https://dl.doubtnut.com/l/_E3p2vTJk7JoV


83. If  represents a point on a plane then  

represents

A. a line parallel to  -axis

B. a line parallel to  -axis

C. a line through (0,0)

D. a line with numerically equal intercepts on the axes

Answer: D

Watch Video Solution

(x, y)
⎡
⎢
⎣

2 −1 3

1 2 −1

x y 1

⎤
⎥
⎦

= 0

x

y

84. The equation of the diagonal through the origin of the quadrilateral

formed by ,  and  is

A. 

B. 

x = 0, y = 0 3x + y = 1 4x + y = 7

6x + 17y = 0

17x − 6y = 0

https://dl.doubtnut.com/l/_E3p2vTJk7JoV
https://dl.doubtnut.com/l/_qMVSX4J3CFaC
https://dl.doubtnut.com/l/_w2ITchjorWRU


C. 

D. 

Answer: D

Watch Video Solution

6r − 17y = 0

17x + 6y = 0

85. If a, b, c are in A. P., then st. line  will always pass

through a fixed point whose co-ordinates are:

A. (1,-2)

B. (-1,2)

C. (1,2)

D. (-1,-2)

Answer: A

Watch Video Solution

ax + by + c = 0

https://dl.doubtnut.com/l/_w2ITchjorWRU
https://dl.doubtnut.com/l/_PFiybzuNnys0
https://dl.doubtnut.com/l/_PF3qjeuzr00L


86. If the lines  and 

are concurrent, then a, b, c are in:

A. .P

B. H.P

C. G .P

D. none of these

Answer: B

Watch Video Solution

x + 2ay + a = 0, x + 3by + b = 0 x + 4cy + c = 0

A

87. A line passing through  meets the  -axis and  -axis at  and 

 respectively. If  is the origin, then locus of the centre of the circum

centre of  is

A. 

B. 

P (3, 4) x y A

B O

ΔOAB

4x − 1 + 3y − 1 = 2

3x − 1 + 4y − 1 = 1

https://dl.doubtnut.com/l/_PF3qjeuzr00L
https://dl.doubtnut.com/l/_54fyVRJYfpDY


C. 

D. 

Answer: C

Watch Video Solution

3x − 1 + 4y − 1 = 2

4x − 1 + 3y − 1 = 1

88. If two vertices of an equilateral triangle have integral co-ordinates,

then the third vertex will have :

A. integral coordinates

B. coordinates which are rational

C. at least one coordinate irrational

D. coordinates, which are irrational

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_54fyVRJYfpDY
https://dl.doubtnut.com/l/_JyBGZZR7qnJT
https://dl.doubtnut.com/l/_gzJuJUepFMHe


89. If two sides of a triangle are represented by : 

, then its orthocentre lies on the

line :

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

2x − 3y + 4 = 0 and 3x + 2y − 3 = 0

x − y + = 0
8

15

4x + 3y + = 0
5

13

9x − y + = 0
9

13

90. The distance of the point (1, 2) from the line  measured

parallel to the line  is :

A. 

B. 

x + y = 0

3x − y = 2

3√2

8

3√10

4

https://dl.doubtnut.com/l/_gzJuJUepFMHe
https://dl.doubtnut.com/l/_slYP33UJ94TL


C. 10

D. 

Answer: B

Watch Video Solution

5√5

91.  and  are two fixed points. The locus of the point  such that 

 is a right angle is

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

A B P

AP̂ B

x2 + y2 = a2

x2 − y2 = a2

2x2 + y2 = a2

2x2 − y2 = a2

https://dl.doubtnut.com/l/_slYP33UJ94TL
https://dl.doubtnut.com/l/_m5lKZvtx8Srw
https://dl.doubtnut.com/l/_1sZarb7vypi2


92. Equation of the bisector of the obtuse angle between the lines

 and  is

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

4x + 3y − 6 = 0 5x + 12y + 9 = 0

9x − 7y − 41 = 0

7x + 9y − 3 = 0

9x + 7y − 3 = 0

7x − 9y − 3 = 0

93. If one of the diagonals of a square is along the line  and one of

its vertices is  then its sides through this vertex are given by the

equations

A. 

B. 

x = 2y

(3, 0),

y − 3x + 9 = 0, 3y + x − 3 = 0

y + 3x + 9 = 0, 3y + x − 3 = 0

https://dl.doubtnut.com/l/_1sZarb7vypi2
https://dl.doubtnut.com/l/_syXnX4j3I9aZ


C. 

D. 

Answer: A

Watch Video Solution

y − 3x + 9 = 0, 3y − x + 3 = 0

y − 3x + 3 = 0, 3y + x + 9 = 0

94. The line parallel to the x axis and passing through the intersection of

the lines 

 and bx -2ay-3a=0 


where (a,b)  (0,0) is

A. above the  -axis at a distance of  from it

B. above the  -axis at a distance of  from it

C. below the  -axis at a distance of  from it

D. below the  -axis at a distance of  from it

Answer: D

W t h Vid S l ti

ax + 2by + 3b = 0

≠

x
2

3

x
3

2

x
2

3

x
3

2

https://dl.doubtnut.com/l/_syXnX4j3I9aZ
https://dl.doubtnut.com/l/_3F37kj39zbb9


Watch Video Solution

95. If the point P (x, y) is equidistant from the points A (a + b, b - a) and

B(a -b, a + b). Prove that bx = ay.

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

ax = by

bx = ay

ax + by = 0

bx + ay = 0

96. If the points  and (1,1) are collinear then

A. 

B. 

(a2, 0), (0, b2)

+ = 1
1

a2

1

b2

+ = 1
1

a

1

b

https://dl.doubtnut.com/l/_3F37kj39zbb9
https://dl.doubtnut.com/l/_VL34udpa0FZm
https://dl.doubtnut.com/l/_PJYoRmdM3wPx


C. 

D. 

Answer: A

Watch Video Solution

a2 + b2 = 1

a + b = 1

97. The vertices of a triangle are at  and  The distance

between the circumcentre and the orthocentre is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

(0, 0), (a, 0) (0, b).

√a2 + b2

√a2 + b21

2

√a2 + b2

√2

√a2 + b21

4

https://dl.doubtnut.com/l/_PJYoRmdM3wPx
https://dl.doubtnut.com/l/_66cIvXtD0Og6
https://dl.doubtnut.com/l/_R8smDcUzWYpu


98. The number of points equidistant to three given distinct non-collinear

points is

A. 0

B. 1

C. 2

D. infinite

Answer: B

Watch Video Solution

99. The points  and  lie on the line joining  and  such

that  then  is the mid

point of the segment

A. 

B. 

Q, R S P (a, x) T (b, y)

PQ = QR = RS = ST ( , )
5a + 3b

8

5x + 3y

8

PQ

QR

https://dl.doubtnut.com/l/_R8smDcUzWYpu
https://dl.doubtnut.com/l/_KR7aZ21rywsi


C. 

D. 

Answer: B

Watch Video Solution

RS

ST

100. The x-co-ordinate of the incentre of the triangle that has the co-

ordinates of mid-points of its sides as (0, 1), (1, 1) and (1, 0) is :

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

2 + √2

1 + √2

2 − √2

1 − √2

https://dl.doubtnut.com/l/_KR7aZ21rywsi
https://dl.doubtnut.com/l/_tw78DFdMEdjg
https://dl.doubtnut.com/l/_hYtXdTU8oLeN


101. The area of the figure formed by  is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

a|x| + b|y| + c = 0

c2

|ab|

2c2

|ab|

c2

2|ab|

c2 ⋅ |ab|

102. Area of the parallelogram formed by the lines

 and 

 is 10 sq. units, then 

A. ±1

B. ±10

C. ±5

2x − 3y + a = 0, 3x − 2y − a = 0, 2x − 3y + 3a = 0

3x − 2y − 2c = 0 a =

https://dl.doubtnut.com/l/_hYtXdTU8oLeN
https://dl.doubtnut.com/l/_Q9bLgW8NRM6y


D. none of these

Answer: C

Watch Video Solution

103. The inclination of the line  with the positive direction

of x-axis is :

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

x − y + 3 = 0

45∘

135∘

−45∘

−135∘

https://dl.doubtnut.com/l/_Q9bLgW8NRM6y
https://dl.doubtnut.com/l/_PDKZ8TN17Xbp


104. The two lines  and  are perpendicular if

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

ax + by = c a ′ x + b ′ y = c ′

aa ′ + bb ′ = 0

ab ′ = ba ′

ab + a ′ br = 0

ab ′ + ba ′ = 0

105. The equation of the line passing through (1, 2) and perpendicular to

 is :

A. 

B. 

C. 

D. 

x + y + 7 = 0

y − x + 1 = 0

y − x − 1 = 0

y − x + 2 = 0

y − x − 2 = 0

https://dl.doubtnut.com/l/_G2qLZuEjg6Ic
https://dl.doubtnut.com/l/_aNWUG9TotQ1v


Answer: B

Watch Video Solution

106. The distance of the point  from the line  is

A. 13

B. 

C. 

D. none of these

Answer: C

Watch Video Solution

P (1, − 3) 2y − 3x = 4

7√13

13

√13

107. The coordinates of the foot of the perpendicular from the point (2,3)

on the line  isx + y − 11 = 0

https://dl.doubtnut.com/l/_aNWUG9TotQ1v
https://dl.doubtnut.com/l/_DGhjfAYXtOzp
https://dl.doubtnut.com/l/_muCmfxrac3jb


A. (-6,5)

B. (5,6)

C. (-5,6)

D. (6,5)

Answer: B

Watch Video Solution

108. The intercept cut off by a line from y-axis is twice than that of from 

-axis and the line passes through the point  The equation of the

line is

A. 

B. 

C. 

D. 

x

(1, 2).

2x + y = 4

2x + y + 4 = 0

2x − y = 4

2x − y + 4 = 0

https://dl.doubtnut.com/l/_muCmfxrac3jb
https://dl.doubtnut.com/l/_EP5lbLlytDTQ


Answer: A

Watch Video Solution

109. A straight line through P(1,2) is such that the intercept between the

axes is bisected at p then the equation of the straight line is

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

x + 2y = 5

x − y + 1 = 0

x + y − 3 = 0

2x + y − 4 = 0

110. The reflection of the point (4, -13) in the line  is :5x + y + 6 = 0

https://dl.doubtnut.com/l/_EP5lbLlytDTQ
https://dl.doubtnut.com/l/_bgxK3S8za9mf
https://dl.doubtnut.com/l/_fDNDP6Ynf8uT


A. (-1,-14)

B. (3,4)

C. (0,0)

D. (1,2)

Answer: A

Watch Video Solution

111. A point moves such that its distance from the point (4,0) is half that

of its distance from the line  The locus of the point is

A. 

B. 

C. 

D. none of these

Answer: A

x = 16.

3x2 + 4y2 = 192

4x2 + 3y2 = 192

x2 + y2 = 192

https://dl.doubtnut.com/l/_fDNDP6Ynf8uT
https://dl.doubtnut.com/l/_ID2JyFiul5NJ


Watch Video Solution

112. A line cutting off intercept -3 from the  -axis and the tangent of the

angle to the  -axis is , its equation -is

A. 

B. 

C. 

D. none of these

Answer: A

Watch Video Solution

y

x
3

5

5y − 3x + 15 = 0

3y − 5x + 15 = 0

5y − 3x − 15 = 0

113. Slope of a line which cuts off intercepts of equal lengths on the axes

is

A. -1

https://dl.doubtnut.com/l/_ID2JyFiul5NJ
https://dl.doubtnut.com/l/_wYYd8A3bEKLO
https://dl.doubtnut.com/l/_K1MJyKvN3Cby


B. 0

C. 2

D. 

Answer: A

Watch Video Solution

√3

114. The equation of the line passing through the point (3,2) and

perpendicular to the line  is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

y = x

x − y = 5

x + y = 5

x + y = 1

x − y = 1

https://dl.doubtnut.com/l/_K1MJyKvN3Cby
https://dl.doubtnut.com/l/_p1uSIe6VpNbK


115. Equation of the line passing through the point (1,2) and

perpendicnlar to the line  is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

x + y + 1 = 0

y − x + 1 = 0

y − x − 1 = 0

y − x + 2 = 0

y − x − 2 = 0

116. The tangent of angle between the lines whose intercepts on the axes

are  and  respectively, is

A. 

B. 

a, − b b, − a

a2 − b2

ab

b2 − a2

2

https://dl.doubtnut.com/l/_p1uSIe6VpNbK
https://dl.doubtnut.com/l/_lbeZppIG0ZGD
https://dl.doubtnut.com/l/_PjGNLl7WFAQ5


C. 

D. none of thesc

Answer: C

Watch Video Solution

b2 − a2

2ab

117. If the line  passes through the points (2,-3) and 

 then  is

A. (1,1)

B. (-1,1)

C. (1,-1)

D. (-1,-1)

Answer: D

Watch Video Solution

+ = 1
x

a

y

b

(4, − 5), (a, b)

https://dl.doubtnut.com/l/_PjGNLl7WFAQ5
https://dl.doubtnut.com/l/_K46rnzGyRGh1
https://dl.doubtnut.com/l/_wbFO7lAoQOt7


118. The distance of the point of intersection of the lines

 and  from the line  is

A. 

B. 

C. 

D. none of these

Answer: A

Watch Video Solution

2x − 3y + 5 = 0 3x + 4y = 0 5x − 2y = 0

130

17√29

13

7√29

130

7

119. One of the equations of the lines passing through the point (3, -2)

and inclined at  to the line  is :

A. 

B. 

C. 

60∘ √3x + y = 1

y + 2 = 0, √3x − y − 2 − 3√3 = 0

x − 2 = 0, √3x − y + 2 + 3√3 = 0

√3x − y − 2 − 3√3 = 0

https://dl.doubtnut.com/l/_wbFO7lAoQOt7
https://dl.doubtnut.com/l/_kUX0bAvVpbsg


D. none of these

Answer: A

Watch Video Solution

120. The equation of the lines passing through the point (1,0) and at a

distance  from the origin, are

A. 

B. 

C. 

D. none of these

Answer: A

Watch Video Solution

√3

2

√3x + y − √3 = 0, √3x − y − √3 = 0

√3x + y + √3 = 0, √3x − y + √3 = 0

x + √3y − √3 = 0, x − √3y − √3 = 0

https://dl.doubtnut.com/l/_kUX0bAvVpbsg
https://dl.doubtnut.com/l/_tn2DDbZ4ef28


121. Derive an expression for the distance between two parallel lines

.

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

y = mx + c1 and y = mx + c2

c1 − c2

√m2 + 1
|c1 − c2|

√1 + m2

c2 − c1

√1 + m2

0–

122. The co-ordinates of the foot of perpendicular from the point (2, 3) on

the line  are given by:

A. 

B. 

C. 

y = 3x + 4

( , − )
37
10

1

10

( − , )
1

10
37
10

( , − 10)
10

37

https://dl.doubtnut.com/l/_Gd9fmQgqDORV
https://dl.doubtnut.com/l/_ZTG2DdbZiLFP


D. 

Answer: B

Watch Video Solution

( , − )
2

3

1

3

123. If the co-ordinates of the middle point of the portion of the line

intercepted between the co-ordinate axes is (3, 2), then the equation of

the line will be:

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

2x + 3y = 12

3x + 2y = 12

4x − 3y = 6

5x − 2y = 10

https://dl.doubtnut.com/l/_ZTG2DdbZiLFP
https://dl.doubtnut.com/l/_wOpw9kLSGq9k
https://dl.doubtnut.com/l/_37NljOSwiY7v


124. Equation of the line passing through (1, 2) and parallel to the line

 is :

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

y = 3x − 1

y + 2 = x + 1

y + 2 = 3(x + 1)

y − 2 = 3(x − 1)

y − 2 = x − 1

125. Equation of diagonals of the square formed by the lines: 

 are:

A. 

B. 

C. 

x = 0, y = 0, x = 1 and y = 1

y = x, y + x = 1

y = x, x + y = 2

2y = x, y + x =
1

3

https://dl.doubtnut.com/l/_37NljOSwiY7v
https://dl.doubtnut.com/l/_pK0hNr1MRvq8


D. 

Answer: A

Watch Video Solution

y = 2x, y + 2x = 1

126. For specifying a straight line, how many geometrical parameters

should be known?

A. 1

B. 2

C. 4

D. 3

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_pK0hNr1MRvq8
https://dl.doubtnut.com/l/_XEaCzvIQo8wt


127. The point (4, 1) undergoes the following transformations: 

(i) reflection about the line y = x (ii) translation through a distance of 2

units along the positive x-axis. Then the final co-ordinates of the point are

:

A. (4,3)

B. (3,4)

C. (1,4)

D. 

Answer: B

Watch Video Solution

( , )
7
2

7
2

128. A point equidistant from the lines

 is :

A. (1,-1)

4x + 3y + 10 = 0, 5x − 12y + 26 = 0 and 7x + 24y − 50 = 0

https://dl.doubtnut.com/l/_qM7qvgmksqKv
https://dl.doubtnut.com/l/_rWScLhGujfV2


B. (1,1)

C. (0,0)

D. (0,1)

Answer: C

Watch Video Solution

129. A line passes through (2,2) and is perpendicular to the line

 Its y - intercept is _______

A. 

B. 

C. 1

D. 

Answer: D

Watch Video Solution

3x + y = 3

1

3

2

3

4
3

https://dl.doubtnut.com/l/_rWScLhGujfV2
https://dl.doubtnut.com/l/_FSVpA1nei6zg


130. The ratio in which the line  divides the distance

between the lines  is :

A. 1: 2

B. 0.12986111111111

C. 0.085416666666667

D. 0.086805555555556

Answer: B

Watch Video Solution

3x + 4y + 2 = 0

3x + 4y + 5 = 0 and 3x + 4y − 5 = 0

131. One vertex of the equilateral triangle with centroid at the origin and

one side as  is :

A. (-1,-1)

B. (2,2)

x + y − 2 = 0

https://dl.doubtnut.com/l/_FSVpA1nei6zg
https://dl.doubtnut.com/l/_JIx4QCB1nOAI
https://dl.doubtnut.com/l/_QS9RkSEd9RQO


C. (-2,-2)`

D. 

Answer: B

Watch Video Solution

(2, − 2)

132. If the sum of the distances of a point from two perpendicular lines in

the plane is  then its locus is

A. a square

B. a circle

C. a parabola

D. an ellipse

Answer: A

Watch Video Solution

1,

https://dl.doubtnut.com/l/_QS9RkSEd9RQO
https://dl.doubtnut.com/l/_iyaviYafBRDp
https://dl.doubtnut.com/l/_OFBUfvXD5tTr


133. The locus of the point which moves such that the ratio of its distance

from two fixed point in the plane is always a constant  is

A. a parabola

B. an ellipse

C. a circle

D. a hyperbola

Answer: C

Watch Video Solution

K( < 1)

134. A point (-4,5) is the vertex of a square and one of its diagonals is

. The equation of the other diagonals is

A. 

B. 

C. 

7x − y + 8 = 0

7x − y + 23 = 0

x + 7y = 31

x − 7y = 37

https://dl.doubtnut.com/l/_OFBUfvXD5tTr
https://dl.doubtnut.com/l/_EW4ukEFXO80Y


D. none of these

Answer: B

Watch Video Solution

135. The equation of a straight line passing through the point (-5, 4) and

which cuts off an intercept of  units between the lines 

and  is :

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

√2 x + y + 1 = 0

x + y − 1 = 0

x − 2y + 13 = 0

2x − y + 14 = 0

x − y + 9 = 0

x − y + 10 = 0

https://dl.doubtnut.com/l/_EW4ukEFXO80Y
https://dl.doubtnut.com/l/_97BSamyJ7jIm
https://dl.doubtnut.com/l/_taUAYFINiWLY


136. The three lines  and 

 are concurrent only when

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

ax + by + c = 0, bx + cy + a = 0

cx + ay + b = 0

a + b + c = 1

a2 + b2 + c2 = ab + bc + ca

a3 + b3 + c3 = 3abc

a3 + b3 + c3 = abc

137. If the equation  represents a pair of

lines then

A. 

B. 

C. 

x2 + y2 + 2gx + 2fy + 1 = 0

f 2 − g2 = 1

f 2 + g2 = 1

g2 − f 2 = 1

https://dl.doubtnut.com/l/_taUAYFINiWLY
https://dl.doubtnut.com/l/_PaorGhIRXwxS


D. 

Answer: B

Watch Video Solution

f 2 + g2 =
1

2

138. A line makes zero intersects on x axis and y axis and it is

prependicular to the line  then its equation is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

3x + 4y + 6 = 0

y = x

4x − 3y = 0

4x − 3y + 8 = 0

4x − 3y + 6 = 0

https://dl.doubtnut.com/l/_PaorGhIRXwxS
https://dl.doubtnut.com/l/_USJCrQ4GttoF


139. If p is the length of the perpendicular from the origin on the line

whose intercepts on the axes are a and b, then

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

p2 = a2 + b2

p2 = a2 − b2

= +
1

p2

1

a2

1

b2

= −
1

p2

1

a2

1

b2

140. The locus of a point which is equidistant from

 is

A. 

B. 

C. 

(a + b, a − b) and (a − b, a + b)

ax + by = 0

x − y = 0

x + y = 0

https://dl.doubtnut.com/l/_GwdbbHhPfxrc
https://dl.doubtnut.com/l/_yxjBEHf0eiaD


D. 

Answer: B

Watch Video Solution

bx − ay = 0

141. What is the equation of the locus of a point which moves such that 4

times its distance from the x axis is the square of its distance from the

origin?

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

x2 + y2 − 4y = 0

x2 + y2 − 4|y| = 0

x2 + y2 − 4x = 0

x2 + y2 − 4|x| = 0

https://dl.doubtnut.com/l/_yxjBEHf0eiaD
https://dl.doubtnut.com/l/_LLjeHb0EPq55
https://dl.doubtnut.com/l/_ROvHTlIgifrW


142.   Equation of the straight line making equal intercepts on the axes

and passing through the point (2,4) is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

4x − y − 4 = 0

2x + y − 8 = 0

x + y − 6 − 0

x + 2y − 10 − 0

143.   Equation of the straight line making equal intercepts on the axes

and passing through the point (2,4) is

A. 

B. 

C. 

4x − y − 4 = 0

2x + y − 8 = 0

x + y − 6 = 0

https://dl.doubtnut.com/l/_ROvHTlIgifrW
https://dl.doubtnut.com/l/_D0bcbTz4QKJ3


D. 

Answer: C

Watch Video Solution

x + 2y − 10 = 0

144. If the area of the triangle with vertices (x, 0). (1.1) and (0.2) is 4 square

units then a value of

A. -2

B. 

C. -6

D. 8

Answer: C

Watch Video Solution

⋯4

https://dl.doubtnut.com/l/_D0bcbTz4QKJ3
https://dl.doubtnut.com/l/_JXosgKeIMWEE


145. If (0,-1) and (0,3) are two vertices of a square, the other two vertices

are

A. (0,1),(0,-3)

B. (3,-1),(0,0)

C. (2,1),(-2,1)

D. (2,2),(1,1)

Answer: C

Watch Video Solution

146. The equation to the line bisecting the join of (3,-4) and (5,2) and

having its intercepts on the x-axis and the y-axis in the ratio 2:1 is...

A. 

B. 

C. 

x + y − 3 = 0

2x − y = 9

x + 2y = 2

https://dl.doubtnut.com/l/_3pfGSCBOs7ei
https://dl.doubtnut.com/l/_5QdxakUoatGV


D. 

Answer: C

Watch Video Solution

2x + y = 7

147. If the lines  and 

are concurrent, then b equals

A. 5

B. -5

C. 0

D. 1

Answer: B

Watch Video Solution

x + 3y − 9 = 0, 4x + by − 2 = 0 2x − y − 4 = 0

https://dl.doubtnut.com/l/_5QdxakUoatGV
https://dl.doubtnut.com/l/_MydohKkaA2HF


148. The co-ordinates of the foot of the perpendicular drawn from the

point (3, 4) on the line  is

A. (1,5)

B. 

C. (c) (1,-5)

D. (-5,1)

Answer: B

Watch Video Solution

2x + y − 7 = 0

( , )
9

5
17
5

149. The coordinates of the circumcentre of the triangle with vertices

(2,3),(4,-1) and (4,3) are

A. (2,3)

B. (1,3)

C. (3,1)

https://dl.doubtnut.com/l/_eEiaRWWbYICE
https://dl.doubtnut.com/l/_vgZ0feK1xRiM


D. (3,2)

Answer: C

Watch Video Solution

150. The orthocentre of the triangle formed by

 is

A. (1,5)

B. (-2,2)

C. (0,3)

D. (1,2)

Answer: D

Watch Video Solution

A(1, 2), B( − 2, 2), C(1, 5)

https://dl.doubtnut.com/l/_vgZ0feK1xRiM
https://dl.doubtnut.com/l/_WxE2LnM7TWrZ


151. The medians AD and BE of a triangle with vertices A (0, b), B(0, 0) and

C(a, 0) are perpendicular ot each other if :

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

b = √2a

a = ± √2b

b = − √2a

b = a

152. The lines  and 

A. form a triangle

B. are only concurrent

2x + 11y − 5 = 0, 4x − 3y − 2 = 0

24x + 7y − 20 = 0

https://dl.doubtnut.com/l/_49u5zHRiD74B
https://dl.doubtnut.com/l/_IFLvjVYjkwDq


C. are concurrent with one line bisecting the angle between the other

two

D. none of these

Answer: C

Watch Video Solution

153. A st. line through the point (2, 2) intersects the lines

 at the points A and B. The equation to

the line AB so that the triangle OAB is equilateral is :

A. 

B. 

C. 

D. none of these

Answer: B

√3x + y = 0 and √3x − y = 0

x − 2 = 0

y − 2 = 0

x + y − 4 = 0

https://dl.doubtnut.com/l/_IFLvjVYjkwDq
https://dl.doubtnut.com/l/_bVXZcYudGvtE


Watch Video Solution

154. A triangle with vertices (4, 0), (-1, -1), (3, 5) is :

A. isosceles and angled

B. isosceles but not angled

C. angled but not isosceles

D. neither angled nor isosceles

Answer: A

Watch Video Solution

155. If  as well as  are in G.P. with the same common

ratio, then the points  :

A. lie on a line

B. lie on the ellipse

x1, x2, x3 y1, y2, y3

(x1, y1), (x2, y2) and (x3, y3)

https://dl.doubtnut.com/l/_bVXZcYudGvtE
https://dl.doubtnut.com/l/_FWEyOgnFoKNn
https://dl.doubtnut.com/l/_9yTnYH5op2Fz


C. lie on a circle

D. are vertices of a triangle

Answer: A

Watch Video Solution

156. A square of side  lies above the  -axis and has one vertex at the

origin. The side passing through the origin makes are angle alpha (0 <

alpha < (pi)/(4))' with the positive direction of  -axis. The equation of its

diagonal not passing through the origin is

A. 

B. 

C. 

D. 

Answer: A

W t h Vid S l ti

4a x

x

y(cos α + sin α) + x(cos α − sin α) = 4a

y(cos α − sin α) − x ⋅ (sin α − cos α) = 4a

y(cos α + sin α) + x(sin α − cos α) = 4a

y(cos α + sin α) + x − (sin α + cos α) = 4a

https://dl.doubtnut.com/l/_9yTnYH5op2Fz
https://dl.doubtnut.com/l/_eVHmXuzFNb8H


Watch Video Solution

157. If the equation of the locus of a point equidistant from the points

 and  is : 


, then c =

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

(a1, b1) (a2, b2)

(a1 − a2)x + (b1 − b2)y + c = 0

√a2
1 + b2

1 − a2
2 − b2

2

(a2
2 + b2

2 − a2
1 − b2

1)
1

2

a2
1 − a2

2 + b2
1 − b2

2

(a2
1 + a2

2 + b2
1 + b2

2)
1

2

158. Locus of centroid of the triangle whose vertices are

 and (1, 0), where t is a parameter, is :

A. 

(a cos t, a sin t), (b sin t, − b cos t)

(3x + 1)2 + (3y)2 = a2 − b2

https://dl.doubtnut.com/l/_eVHmXuzFNb8H
https://dl.doubtnut.com/l/_4HpP2dF9m0rA
https://dl.doubtnut.com/l/_q1JpmjlIkbhM


B. 

C. 

D. 

Answer: C

Watch Video Solution

(3x − 1)2 + (3y)2 ≈ a2 − b2

(3x − 1)2 + (3y)2 = a2 + b2

(3x + 1)2 + (3y)2 = a2 + b2

159. The equation of the straight line passing through the point (4, 3) and

making intercepts on the co-ordinate axes whose sum is -1 is :

A.  and 

B.  and 

C.  and 

D.  and 

Answer: D

Watch Video Solution

+ = 1
x

2

y

3
+ = 1

x

2

y

1

− = − 1
x

2

y

3
+ = − 1

x

−2

y

1

+ = − 1
x

2

y

3
+ = − 1

x

−2

y

1

− = 1
x

2

y

3
+ = 1

x

−2

y

1

https://dl.doubtnut.com/l/_q1JpmjlIkbhM
https://dl.doubtnut.com/l/_IUvApEUfiPvu


160.  and  are the vertices of a triangle  If the

centroid of this triangle moves on the line  then the locus

of the vertex  is the line

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

A(2, − 3) B( − 2, 1) ABC.

2x + 3y = 1,

C

3x + 2y = 5

2x − 3y = 7

2x + 3y = 9

3x − 2y = 3

161. If a vertex of a triangle is (1, 1) and the mid-points of two sides

through this vertex are (-1, 2) and (3, 2), then the centroid of the triangle

is :

https://dl.doubtnut.com/l/_IUvApEUfiPvu
https://dl.doubtnut.com/l/_xFUjBIuzw5J3
https://dl.doubtnut.com/l/_c3nX7Iq3yOPV


A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

( − , )
1

3
7
3

( − 1, )
7
3

( , )
1

3
7
3

(1, )
7
3

162. If non-zero numbers a, b, c are in H.P., then the straight line

 always passes through a fixed point. That point is :

A. (-1,-2)

B. (-1,2)

C. (1,-(1)/(2))

D. (1,-2)`

Answer: D

+ + = 0
x

a

y

b

1

c

https://dl.doubtnut.com/l/_c3nX7Iq3yOPV
https://dl.doubtnut.com/l/_pCwvDUR8Rmv1


Watch Video Solution

163. A straight line through the point A(3, 4) is such that its intercept

between the axes is bisected at A. Its equation is :

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

3x + 4y = 25

x + y = 7

3x − 4y + 7 = 0

4x + 3y = 24

164. If  falls inside the angle made by the lines 

, then a belongs to :

A. 

(a, a2)

y = , x > 0 and y = 3x, x > 0
x

2

(3, ∞)

https://dl.doubtnut.com/l/_pCwvDUR8Rmv1
https://dl.doubtnut.com/l/_LtcfpVR8nl73
https://dl.doubtnut.com/l/_oosyUnDczRKD


B. 

C. 

D. 

Answer: B

Watch Video Solution

( , 3)
1

2

( − 3, − )
1

2

(0, )
1

2

165. Let PS be the median of the triangle with vertices P(2, 2), Q(6, -1) and

R(7, 3). The equation of the line passing through (1, -1) and parallel to PS is

:

A. 

B. 

C. 

D. 

Answer: D

2x − 9y − 7 = 0

2x − 9y − 11 = 0

2x + 9y − 11 = 0

2x + 9y + 7 = 0

https://dl.doubtnut.com/l/_oosyUnDczRKD
https://dl.doubtnut.com/l/_dh43ByYYSGHz


Watch Video Solution

166. Area of the parallelogram formed by the lines

 equals :

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

y = mx, y = mx + 1, y = nx and y = nx + 1

|m + n|

(m − n)2

2

|m + n|

1

|m + n|

1

|m − n|

167. The number of integer values of m for which the x-co-ordinates of the

point of intersection of the lines  is also

an integer is :

3x + 4y = 9 and y = mx + 1

https://dl.doubtnut.com/l/_dh43ByYYSGHz
https://dl.doubtnut.com/l/_3ZLBPSHVW6UM
https://dl.doubtnut.com/l/_kScueO9AYnMJ


A. 2

B. 0

C. 4

D. 1

Answer: A

Watch Video Solution

168. The incentre of the triangle with vertices 

is :

A. 

B. 

C. `((2)/(3), (sqrt(3))/(2))

D. (1, (1)/(sqrt(3)))`

Answer: D

(1, √3), (0, 0) and (2, 0)

(1, )
√3

2

( , )
2

3

1

√3

https://dl.doubtnut.com/l/_kScueO9AYnMJ
https://dl.doubtnut.com/l/_UH9MX5zLPOIn


Watch Video Solution

169. A straight line through the origin O meets the parallel lines

 at points P and Q respectively. Then

the point O divides the segment PQ in the ratio :

A. 0.043055555555556

B. 0.12777777777778

C. 0.084027777777778

D. 0.16875

Answer: B

Watch Video Solution

4x + 2y = 9 and 2x + y + 6 = 0

170. Let P(-1, 0), Q(0, 0) and  be three points. Then the equation

of the bisector of the angle PQR is :

R(3, 3√3)

https://dl.doubtnut.com/l/_UH9MX5zLPOIn
https://dl.doubtnut.com/l/_ePpdVeBmP987
https://dl.doubtnut.com/l/_t4sp2djcHiDB


A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

x + y = 0
√3

2

x + √3y = 0

√3x + y = 0

x + y = 0
√3

2

171. Orthocentre of triangle whose vertices are (0, 0), (3, 4), (4, 0) is :

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

( , 3)
3

4

( , 3)
5

4

(3, )
3

4

https://dl.doubtnut.com/l/_t4sp2djcHiDB
https://dl.doubtnut.com/l/_JjQ2TxSZRlEI


172. Triangle is formed by the co-ordinates (0, 0), (0, 21) and (21, 0). Find

the number of integral co-ordinates strictly inside the triangle (integral

co-ordinates has both x and y) :

A. 190

B. 305

C. 181

D. 206

Answer: A

Watch Video Solution

173. The lines  and  form a

rhombus if m is equal to :

A. -1

y = mx, y + 2x = 0, y = 2x + k y + mx = k

https://dl.doubtnut.com/l/_JjQ2TxSZRlEI
https://dl.doubtnut.com/l/_vprxGFmPyi07
https://dl.doubtnut.com/l/_UmrE2WkyRzZN


B. 

C. 1

D. 2

Answer: D

Watch Video Solution

1

2

174. The lines  and  are

perpendicular if

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

x + (a − 1)y + 1 = 0 2x + a2y − 1 = 0

|a| = 2

0 < a < 1

−1 < a < 0

a = − 1

https://dl.doubtnut.com/l/_UmrE2WkyRzZN
https://dl.doubtnut.com/l/_KHslSRLRyqVz


175. A line passes through (2,2) and is perpendicular to the line

 Its y - intercept is _______

A. 

B. 

C. 1

D. 

Answer: D

Watch Video Solution

3x + y = 3

1

3

2

3

4
3

176. If  and  are three given points,

then the locus of  satisfying the relation  is

A. a line parallel to  -axis

B. a circle through the origin

P = (1, 0), Q = ( − 1, 0) R = (2, 0)

S SQ2 + SR2 = 2SP 2

x

https://dl.doubtnut.com/l/_KHslSRLRyqVz
https://dl.doubtnut.com/l/_Ygc1uU70kfvH
https://dl.doubtnut.com/l/_L23F8F2sbh2l


C. a circle with centre at the origin

D. a line parallel to  -axis

Answer: D

Watch Video Solution

y

177. If  and  are the vertices of a

parallelogram , then

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

P (1, 2), Q(4, 6), R(5, 7) S(a, b)

PQRS

a = 2, b = 4

a = 3, b = 4

a = 2, b = 3

a = 3, b = 5

https://dl.doubtnut.com/l/_L23F8F2sbh2l
https://dl.doubtnut.com/l/_fwHY2sMgMDhH
https://dl.doubtnut.com/l/_hIxrh7OWbLvt


178. The diagonals of a parallelogram  are along the lines 

 and . Then  must be

A. rectangle

B. square

C. cyclic quadrilateral

D. rhombus

Answer: D

Watch Video Solution

PQRS

x + 3y = 4 6x − 2y = 7 PQRS

179. If the vertices  are rational points which of the following

points of the triangle  is (are) always rational point(s)?

A. centroid

B. incentre

C. circumcentre

P , Q, R

PQR

https://dl.doubtnut.com/l/_hIxrh7OWbLvt
https://dl.doubtnut.com/l/_AwiY4OEagqSp


D. orthocentre

Answer: A

Watch Video Solution

180. If the lines  and  are

concurrent then 

A. 1

B. -1

C. 25

D. 5

Answer: C

Watch Video Solution

x − y − 1 = 0, 4x + 3y = k 2x − 3y + 1 = 0

k =

https://dl.doubtnut.com/l/_AwiY4OEagqSp
https://dl.doubtnut.com/l/_x2rJVJskrMJe


181. The centroid of a triangle formed by the points (0, 0),

 lies on the line . Then  is :

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

(cos θ, sin θ) and (sin θ, − cos θ) y = 2x θ

tan− 1 2

tan− 1(1)

3

tan− 1( − 3)

tan− 1( − 2)

182. The orthocentre of the triangle formed by (8,0) , (4,6) with the origin

is

A. 

B. (3,-4)

C. ( 4,3

(4, )
8

3

)

https://dl.doubtnut.com/l/_Ih60Jc4jluNO
https://dl.doubtnut.com/l/_SHgNMJ8p1Qso


D. (3,4)

Answer: A

Watch Video Solution

183. The foot of the perpendicular from (-2,3) to the line 

is

A. (-2,3)

B. (2,1)

C. (3,2)

D. (1,2)

Answer: B

Watch Video Solution

2x − y − 3 = 0

https://dl.doubtnut.com/l/_SHgNMJ8p1Qso
https://dl.doubtnut.com/l/_xG8WlIbGWLng


184. The locus of the point of the portion of the line

 which is intercepted between the axes is

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

x cos α − y sin α = p

p2(x2 + y2) = 4xy

p(x2 + y2) = 4x2y2

p2(x + y) − x2y2

p2(x2 + y2) = 4x2y2

185. The value of  for which the lines ,  and 

 meet at a point is

A. 2

B. 

C. 4

λ 3x + 4y = 5 5x + 4y = 4

λx + 4y = 6

1–

https://dl.doubtnut.com/l/_EaIQhxUWhkAD
https://dl.doubtnut.com/l/_VB92bba8MDPN


D. 3

Answer: A

Watch Video Solution

186. Three vertices of a parallelogram taken in order are (-1,-6),(2,-5) and

(7,2), The fourth vertex is

A. (1,4)

B. (1,1)

C. (4,4)

D. (4,1)

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_VB92bba8MDPN
https://dl.doubtnut.com/l/_7Y6DaldKCEpG


187. The angle between the lines  and  is

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

2x − y + 3 = 0 x + 2y + 3 = 0

90∘

60∘

45∘

30∘

188. The centroid of the triangle is (2,7) and two of its vertices are (4,8)

and (-2,6) and third vertex is

A. (0,0)

B. (4,7)

C. (7,4)

D. (7,7)

https://dl.doubtnut.com/l/_YkXFIAVXX571
https://dl.doubtnut.com/l/_RqtXbDeDIQqt


Answer: B

Watch Video Solution

189. The inclination of the line through (-3,6) and the midpoint of the line

joining the point (4,-5) and (-2,9) is

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

π

4

π

6

π

3

3π

4

190. A point moves such that the area of the triangle formed by it with

the points (1,5) and (3,-7) is + 21 sq. units. The locus of the point is

https://dl.doubtnut.com/l/_RqtXbDeDIQqt
https://dl.doubtnut.com/l/_aGzR4Liquq54
https://dl.doubtnut.com/l/_j7ObFdgsacPg


A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

6x + y + 32 = 0

6x − y + 32 = 0

x + 6y − 32 = 0

6x − y − 32 = 0

191. The area bounded by the curves  and  is

A. 

B. 

C. 1

D. 2

Answer: B

Watch Video Solution

x + 2|y| = 1 x = 0

1

4

1

2

https://dl.doubtnut.com/l/_j7ObFdgsacPg
https://dl.doubtnut.com/l/_tXRdW6x49RAG


192. The foot of the perpendicular from the point (2,4) upon  is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

x + y = 4

( , )
1

2

3

2

( − , )
1

2

3

2

( , )
4
3

1

2

( , − )
3

4

1

2

193. A (1, 3) and C(7, 5) are two opposite vertices of a square. The equation

of a side thro' A is :

A.  or 

B. 

C. 

x + 2y − 7 = 0 2x − y + 1 = 0

x − 2y + 5 = 0

2x + y − 5 = 0

https://dl.doubtnut.com/l/_tXRdW6x49RAG
https://dl.doubtnut.com/l/_I4G6UfuCLO2W
https://dl.doubtnut.com/l/_KDMB0MdO7Kyz


D. none of these

Answer: A

Watch Video Solution

194. Distance between the parallel lines  and  is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

y = 2x + 7 y = 2x + 5

√5

2

2

5

2

√5

1

√5

https://dl.doubtnut.com/l/_KDMB0MdO7Kyz
https://dl.doubtnut.com/l/_M12nz2z36MGa


195. Orthocentre of the triangle formed by the lines  and 

 is

A. (0,0)

B. (0,1)

C. (1,0)

D. (-1,1)

Answer: A

Watch Video Solution

x + y = 1

xy = 0

196. The area of the triangle with vertices at (-4,1) , (1,2),(4,-3) is

A. 17

B. 16

C. 15

D. none of these

https://dl.doubtnut.com/l/_MKrtCkGJpnAK
https://dl.doubtnut.com/l/_iy2mW4MAb6HT


Answer: D

Watch Video Solution

197. Find the area of the triangle  ABC with A(a,b+c), B(b,c+a), and C(c, a+

b).

A. 0

B. 

C. 

D. none of these

Answer: A

Watch Video Solution

Δ

a + b + c

ab + bc + ca

198.  are opposite vertices of a square in the  plane.

The equation of the other diagonal (not passing through  ) of the

A( − 1, 1), B(5, 3) xy

A, B

https://dl.doubtnut.com/l/_iy2mW4MAb6HT
https://dl.doubtnut.com/l/_brGfvUMG7F5x
https://dl.doubtnut.com/l/_ukDa26V8JzIs


square is given by

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

x − 3y + 4 = 0

2x − y + 3 = 0

y + 3x − 8 = 0

x + 2y − 1 = 0

199. A straight line through P(1,2) is such that the intercept between the

axes is bisected at p then the equation of the straight line is

A. 

B. 

C. 

D. 

x + 2y = 5

x − y + 1 = 0

x + y − 3 = 0

2x + y − 4 = 0

https://dl.doubtnut.com/l/_ukDa26V8JzIs
https://dl.doubtnut.com/l/_nwXnfXfxAXNW


Answer: D

Watch Video Solution

200. The equations to the sides of a triangle are

 and  The line  passes

through

A. the incentre

B. the centroid

C. the circumcentre

D. the orthocentre of the triangle

Answer: D

Watch Video Solution

x + 2y = 0, 4x + 3y = 5 3x + y = 0. 3x − 4y = 0

https://dl.doubtnut.com/l/_nwXnfXfxAXNW
https://dl.doubtnut.com/l/_QyYpotwYygMa


201. The diagonals of the parallelogram whose sides are 

 

 include an angle

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

lx + my + n = 0, lx + my + n ′ = 0

mx + ly + n = 0, mx + ly + n ′ = 0

π

3

π

2

tan− 1( )
l2 − m2

l2 + m2

tan− 1(( ))2
m

l2 + m2

202. The lines  and 

are concurrent

A. for all '  '

B. for  only

2x + y − 1 = 0, ax + 3y − 3 = 0 3x + 2y − 2 = 0

a

as = 4

https://dl.doubtnut.com/l/_RkCF7FUJgHC9
https://dl.doubtnut.com/l/_TjiElsfiYCvh


C. for 

D. for  only

Answer: A

Watch Video Solution

−1 ≤ a ≤ 3

a > 0

203. A point equidistant from the lines

 is :

A. (1,-1)

B. (1,1)

C. (0,0)

D. (0,1)

Answer: C

Watch Video Solution

4x + 3y + 10 = 0, 5x − 12y + 26 = 0 and 7x + 24y − 50 = 0

https://dl.doubtnut.com/l/_TjiElsfiYCvh
https://dl.doubtnut.com/l/_AC2EUZg2T9V9
https://dl.doubtnut.com/l/_bkpsihGMSUhK


204. The area of the triangle formed by the coordinate axes and the line

 is (in square units)

A. 5

B. 10

C. 15

D. 20

Answer: B

Watch Video Solution

4x + 5y = 20

205. The angle between the lines formed by joining the points (2,-3),(-5,1)

and (7,-1),(0,3) is

A. 

B. 

C. 0

π

2

π

4

https://dl.doubtnut.com/l/_bkpsihGMSUhK
https://dl.doubtnut.com/l/_OobaWyy55iEt


D. 

Answer: C

Watch Video Solution

π

6

206. The variable line  is such that  The locus of

the midpoint of the portion of the intercepted between the axes is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

+ = 1
x

a

y

b
a + b = 10.

x + y = 10

10x + 5y = 1

x + y = 5

5x + 10y = 1

https://dl.doubtnut.com/l/_OobaWyy55iEt
https://dl.doubtnut.com/l/_CnLV9nML7lTR


207. If ,  are

vertices of a quadrilateral such that  then 

A. 6

B. 9

C. 69

D. 96

Answer: C

Watch Video Solution

A = ( − 3, 4), B = ( − 1, − 2), C = (5, 6) D = (x, − 4)

△ ABD = 2ΔACD, x =

208. The angle between the lines  and 

 is

A. 

B. 

C. 

x cos α + y sin α = a

x sin β − y cos α = a

α + β

α − β

αβ

https://dl.doubtnut.com/l/_TrmGq8x4HxuR
https://dl.doubtnut.com/l/_rEXP2le6JyeD


D. 

Answer: B

Watch Video Solution

2α − β

209. The coordinates of the foot of the perpendicular from the point (2,3)

on the line  is

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

x + y − 11 = 0

( , )
81

25

92

25

( , )
92

25

81

25

( , )
46
25

54
25

( − , )
81

25

92

25

https://dl.doubtnut.com/l/_rEXP2le6JyeD
https://dl.doubtnut.com/l/_K4r3XL7e2Kup


210. If  is the perpendicular bisector of the segment

joining the points  and  then the value of  is

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

2x + 3y + 4 = 0

A(1, 2) B(α, β) α + β

−
81

13

−
136

13

−
135

13

−
134
13

211. The point of intersection of the lines  and 

 is

A. 2

B. 3

C. -2

= =
x + 1

3

y + 3

5

z + 5

7

= =
x − 2

1

y − 4

3

z − 6

5

https://dl.doubtnut.com/l/_6VQ1WahjoAlD
https://dl.doubtnut.com/l/_qTEI2BU0wL7U


D. -3

Answer: B

Watch Video Solution

212. If non-zero numbers a, b, c are in H.P., then the straight line

 always passes through a fixed point. That point is :

A. 

B. 

C. (1,1)

D. 

Answer: B

Watch Video Solution

+ + = 0
x

a

y

b

1

c

(k, k)

( , )
1

k

1

k

(k, )
1

k

https://dl.doubtnut.com/l/_qTEI2BU0wL7U
https://dl.doubtnut.com/l/_vS09xpFXKFLG


213.  and  are two points. If  is a point

such that , then the locus of  is

A. 1)

B. 2)

C. 3) 

D. 4)

Answer: C

Watch Video Solution

A = ( − 9, 0) B = ( − 1, 0) P (x, y)

3PB = PA P

x2 − y2 = 9

x2 − y2 = − 9

x2 + y2 = 9

x2 + y2 = 3

214. Let a and b non zero reals such that  then the equation of the

line passing through the origin and the point of intersection of

 and  is

A. 

B. 

a ≠ b

+ = 1
x

a

y

b
+ = 1

x

b

y

a

ax + by = 0

bx + ay = 0

https://dl.doubtnut.com/l/_M8Zqq60tLORz
https://dl.doubtnut.com/l/_W43VZe9sO6ec


C. 

D. 

Answer: C

Watch Video Solution

y − x = 0

x + y = 0

215. The reflection of the point (6,8) in the line  is

A. (4,2)

B. (-6,-8)

C. (-8,-10)

D. (8,6)

Answer: D

Watch Video Solution

x = y

https://dl.doubtnut.com/l/_W43VZe9sO6ec
https://dl.doubtnut.com/l/_kCxjHx6rZx6b


216. The equation of the line passing through the intersection of the lines

 and  and parallel to  is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

x + 2y + 3 = 0 3x + 4y + 7 = 0 y − x = 8

x − y = 0

x ′ + y = 2

x + y + 2 = 0

x + y + 1 = 0

217. If the lines  and  represent

the three consecutive sides of a rectangle, then 

A. 18

B. -3

C. 

y = 4 − 3x, ay = x + 10 2y + bx + 9 = 0

ab =

1

2

https://dl.doubtnut.com/l/_GkVylxsEap9O
https://dl.doubtnut.com/l/_Kj0a6DPCNux0


D. 

Answer: A

Watch Video Solution

−
1

3

218. The equation of the line making an intercept of 3 units on  -axis

and inclined at  to the  -axis is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

Y

45∘ X

y = x − 1

y = x + 3

y = 45x + 3

y = x + 45

https://dl.doubtnut.com/l/_Kj0a6DPCNux0
https://dl.doubtnut.com/l/_JORUNYcvqX2M


219. The ratio in which the line  divides the segment joining (2,3)

and (8,6) is

A. 0.043055555555556

B. 2:1

C. 0.04375

D. 1:2

Answer: A

Watch Video Solution

y = x

220. If the points (1, 2) and (3, 4) were to be on the same side of the line

, then :

A. (a) 

B. (b) 

C. (c) 

3x − 5y + a = 0

7 < a < 11

a = 7

a = 1

https://dl.doubtnut.com/l/_i75Ej0EicxqE
https://dl.doubtnut.com/l/_KS7FRcKQUZCx


D. (d)  or 

Answer: D

Watch Video Solution

a < 7 a > 11

221. The vertices of a triangle are (6, 0), (0, 6) and (6, 6). The distance

between its circumcentre and centroid is :

A. 

B. 2

C. 

D. 1

Answer: C

Watch Video Solution

2√2

√2

https://dl.doubtnut.com/l/_KS7FRcKQUZCx
https://dl.doubtnut.com/l/_XFzxpRNKrcFf


222. If the point  divides the join of 

 and  internally then

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

x1 + t(x2 − x1), y1 + t(y2 − y1)

(x1, y1) (x2, y2)

t < 0

0 < t < 1

t > 1

t = 1

223. The co-ordinates of the image of the origin O. w.r.t. st. line

 are :

A. 

B. (-2,-2)

C. (1,1)

x + y + 1 = 0

( − , − )
1

2

1

2

https://dl.doubtnut.com/l/_JZ1H7ZwlSMdV
https://dl.doubtnut.com/l/_uQ513mgUqxTf


D. (-1,-1)

Answer: D

Watch Video Solution

224. A straight rod of length 9 units slides with its ends A, B always on the

X and Y-axis respectively . Then the locus of the centroid of  is :

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

ΔOAB

x2 + y2 = 3

x2 + y2 = 9

x2 + y2 = 1

x2 + y2 = 81

https://dl.doubtnut.com/l/_uQ513mgUqxTf
https://dl.doubtnut.com/l/_Ad8RQwmore7u


225. The area of the triangle formed by the axes and the lines

 in square units is

A. 4

B. 3

C. 2

D. 1

Answer: C

Watch Video Solution

(cosh α − sinh α)x + (cosh α + sinh α)y = 2

226. The incentre of the triangle formed by the lines

 is

A. 

B. 

x + y = 1, x = 1, y = 1

(1 − , 1 − )
1

√2

1

√2

(1 − , )
1

√2

1

√2

https://dl.doubtnut.com/l/_I5OSelahV74Z
https://dl.doubtnut.com/l/_48zqVEzakmv1


C. 

D. 

Answer: C

Watch Video Solution

( , )
1

√2

1

√2

( , 1 − )
1

√2

1

√2

227. The lines  cut the  -axis at 

respectively. A line '  drawn through the point (2,2) meets the  axis

at  in such a way that abscissa of  and  are in A.P. Then the

equation of the line '  is

A. 

B. 

C. 

D. 

Answer: A

2x + 3y = 6, 2x + 3y = 8 x A, B

P x −

C, A, B C

P

2x + 3y = 10

3x + 2y = 10

2x − 3y = 10

3x − 2y = 10

https://dl.doubtnut.com/l/_48zqVEzakmv1
https://dl.doubtnut.com/l/_1BEbKfz8hbVS


Watch Video Solution

228. For all value of  and  the line 

passes through the point,

A. (-1,2)

B. (2,-1)

C. (-2,1)

D. (1,-2)

Answer: C

Watch Video Solution

a b

(a + 2b)x + (a − b)y + (a + 5b) = 0

229. If a line perpendicular to  forms a triangle with the

coordinate axes whose area is 3 sq. units, then the equation of the line(s)

is

2x − 3y + 7 = 0

https://dl.doubtnut.com/l/_1BEbKfz8hbVS
https://dl.doubtnut.com/l/_e0CtY39OGCol
https://dl.doubtnut.com/l/_yFzisx4ZSRGE


A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

3x + 2y = ± 7

3x + 2y = ± 6

3x + 2y = ± 8

3x + 2y = ± 4

230. If (-2,6) is the image of the point (4,2) with respect to the line 

then 

A. 

B. 

C. 

D. 

Answer: C

L = 0,

L =

6x − 4y − 7

2x + 3y − 5

3x − 2y + 5

3x − 2y + 10

https://dl.doubtnut.com/l/_yFzisx4ZSRGE
https://dl.doubtnut.com/l/_Oqqxc01MyvC9


Watch Video Solution

231. If the lines  and 

are concurrent, then 

A. 4

B. 5

C. 6

D. 7

Answer: C

Watch Video Solution

4x + 3y − 1 = 0, x − y + 5 = 0 kx + 5y − 3 = 0

k =

232. The point  is equidistant from   and 

Then 

A. 5

P A(1, 3) B( − 3, 5) C(5, − 1).

PA =

https://dl.doubtnut.com/l/_Oqqxc01MyvC9
https://dl.doubtnut.com/l/_lTw3D0LtgvLu
https://dl.doubtnut.com/l/_xxsbpF8NfaPj


B. 

C. 25

D. 

Answer: C

Watch Video Solution

5√5

5√10

233. Suppose  are two points on  and  is such

that , then the mid point of  is

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

A, B 2x − y + 3 = 0 P (1, 2)

PA = PB AB

( − , )
1

5

13

5

( − , )
7
5

9

5

( , − )
7
5

9

5

( − , − )
7
5

9

5

https://dl.doubtnut.com/l/_xxsbpF8NfaPj
https://dl.doubtnut.com/l/_bfOXaqxXdIxY


234. The distance between the points  and 

 is , then 

A. 

B. 

C.  

D. 

Answer: A

Watch Video Solution

(a cos θ, a sin θ)

(a cos φ, a sin φ) 2a θ =

2nπ ± π + φ, n ∈ z

nπ + + φ, n ∈ z
π

2

nπ − φ n ∈ z

2nπ + φ, n ∈ z

235. If a point  moves such that its distance from the point  and

the line  are equal then the locus is

A. a straight line

B. a pair of straight line

P A(1, 1)

x + y + 2

https://dl.doubtnut.com/l/_bfOXaqxXdIxY
https://dl.doubtnut.com/l/_T57phuEJuIU7
https://dl.doubtnut.com/l/_Zx944ZeHjn1a


C. a parabola

D. an ellipse

Answer: C

Watch Video Solution

236. The area of the triangle formed by the lines  and 

 is (in square units)

A. 3

B. 4

C. 6

D. 12

Answer: C

Watch Video Solution

x = 0, y = 0

3x + 4y = 12

https://dl.doubtnut.com/l/_Zx944ZeHjn1a
https://dl.doubtnut.com/l/_an1viM0OSz3f
https://dl.doubtnut.com/l/_sAG1h4eamYoQ


237. If  is the perpendicular from  onto the line ,

then the coordinates of  are

A. (2,1)

B. (-1,4)

C. (1,2)

D. (4,-1)

Answer: C

Watch Video Solution

PM P (2, 3) x + y = 3

M

238. The equation of the line perpendicular to  and passing

through the point of intersection of the lines  and 

 is

A. 

B. 

5x − 2y = 7

2x + 3y = 1

3x + 4y = 6

2x + 5y + 17 = 0

2x + 5y − 17 = 0

https://dl.doubtnut.com/l/_sAG1h4eamYoQ
https://dl.doubtnut.com/l/_iw83wOiEqhRw


C. 

D. 

Answer: A

Watch Video Solution

2x − 5y + 17 = 0

2x − 5y = 17

239. The lines  and  and  meet in

the common point

A. (1,2)

B. (2,2)

C. (3,1)

D. (1,1)

Answer: C

Watch Video Solution

x − y − 2 = 0 x + y − 4 = 0 x + 3y = 6

https://dl.doubtnut.com/l/_iw83wOiEqhRw
https://dl.doubtnut.com/l/_MGcjmGKgPMwk
https://dl.doubtnut.com/l/_f2fyvdA4GtxK


240. The consecutive sides of a parallelogram are  and 

 One diagonal of the parallelogram is  If the

other diagonal is  then

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

4x + 5y = 0

7x + 2y = 0. 11x + 7y = 9.

ax + by + c = 0,

a = − 1, b = − 1, c = 2

a = 1, b = − 1, c = 0

a = − 1, b = − 1, c = 0

a = 1, b = 1, c = 1

241. A point (-4,5) is the vertex of a square and one of its diagonals is

. The equation of the other diagonals is

A. 

B. 

7x − y + 8 = 0

x + 3y − 21

2x3y − 7

https://dl.doubtnut.com/l/_f2fyvdA4GtxK
https://dl.doubtnut.com/l/_4HkvJHK8Y7bv


C. 

D. 

Answer: C

Watch Video Solution

x + 7y = 31

2x ∣ 3y = 21

242. The centroid of the triangle ABC where A= (2,3), B= (8,10) and C= (5,5)

is

A. (6,5)

B. (5,6)

C. (15,18)

D. (6,6)

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_4HkvJHK8Y7bv
https://dl.doubtnut.com/l/_LKINL5Kw2eFp
https://dl.doubtnut.com/l/_cmfbYPAnsdgI


243. A variable line  is such that a+b=4. The locus of the

midpoint of the portion of the line intercepted between the axes is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

+ = 1
x

a

y

b

x + y = 8

x + y = 4

x + y = 2

x + y = 1

244. The foot of the perpendicular from the point (2,4) upon  is

A. (1,3)

B. (3,-1)

C. (2,2)

D. (4,0)

x + y = 4

https://dl.doubtnut.com/l/_cmfbYPAnsdgI
https://dl.doubtnut.com/l/_UYqG8XdQi03d


Answer: A

Watch Video Solution

245. The vertices of triangle ar (6,0),(0,6) and (6,6). The distance between

its circumcentre and cenroid is

A. 1

B. 

C. 2

D. 

Answer: D

Watch Video Solution

2√2

√2

246. The line joining  dand  is divided into 4 equal parts

by the points P,Q and R such that . The midpoint of PR

A(2, − 7) B(6, 5)

AQ = RP = QB

https://dl.doubtnut.com/l/_UYqG8XdQi03d
https://dl.doubtnut.com/l/_lSzmRuwf6G35
https://dl.doubtnut.com/l/_S8xt9NJYK1qq


is

A. (8,-2)

B. (4,-1)

C. (-8,1)

D. (4,12)

Answer: B

Watch Video Solution

247. Locus of a point which moves such that its distance from the X-axis is

twice its distance from the line x-y=0 is

A. 

B. 

C. 

D. 

x2 + 4xy − y2 = 25

2x2 − 4xy + y2 = 0

x2 − 4xy + y2 = 0

x2 − 4xy − y2 = 0

https://dl.doubtnut.com/l/_S8xt9NJYK1qq
https://dl.doubtnut.com/l/_ije4GzSwJhrI


Answer: B

Watch Video Solution

248. The points A(1,2),B(2,4) and C(4,8) form a/an

A. isosceles triangle

B. equilateral triangle

C. straight line

D. angled triangle

Answer: C

Watch Video Solution

249. If the line through  is inclined at an angle  with the

positive direction of the x-axis, then the co-ordinates of the two points on

opposite sides of A at a distance  are :

A ≡ (4, − 5) 45∘

3√2

https://dl.doubtnut.com/l/_ije4GzSwJhrI
https://dl.doubtnut.com/l/_AQVOOJkm6New
https://dl.doubtnut.com/l/_x8TTP74qh2ro


A. (7,2),(1,8)

B. (7,2),(1,-8)

C. (7,-2),(1,-8)

D. (7,2),(-1,8)

Answer: C

Watch Video Solution

250. If the straight line  always passes through (1, -2),

then a, b, c are in:

A. H.P

B. A.P

C. G.P

D. none of these

Answer: B

ax + by + c = 0

https://dl.doubtnut.com/l/_x8TTP74qh2ro
https://dl.doubtnut.com/l/_742r6H206FIk


Watch Video Solution

251. The incentre of the triangle with vertices 

is :

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

(1, √3), (0, 0) and (2, 0)

(1, )
√3

2

( , )
2

3

1

√3

( , )
2

3

√3

2

(1, )
1

√3

252. Let  be a fixed angle. If 

, then Q is

obtained from P by:

0 < α < π /4

P = (cos θ, sin θ) and Q = (cos(α − θ), sin(α − θ))

https://dl.doubtnut.com/l/_742r6H206FIk
https://dl.doubtnut.com/l/_XT84cYT0r03c
https://dl.doubtnut.com/l/_Llc8oVVPG1o8


A. clockwise rotation around origin through an angle 

B. anticlockwise rotation around origin through angle 

C. reflection in the line through origin with slope 

D. reflection in the line through origin with slope 

Answer: D

Watch Video Solution

α

α

tan α

tan( )
α

2

253. If  as well as  are in G.P. with the same common

ratio, then the points  :

A. (a) lie on a line

B. (b) lie on an ellipse

C. (c) lie on a circle

D. (d) are vertices of a triangle

Answer: A

x1, x2, x3 y1, y2, y3

(x1, y1), (x2, y2) and (x3, y3)

https://dl.doubtnut.com/l/_Llc8oVVPG1o8
https://dl.doubtnut.com/l/_VL5yhmjCE32V


Watch Video Solution

254. The number of integral points (integral points means both the

coordinates of the point should be integer) exactly in the interior of the

triangle with vertices (0,0),(0,21) and (21,0) is

A. 133

B. 190

C. 233

D. 105

Answer: B

Watch Video Solution

255. Orthocentre of triangle whose vertices are (0, 0), (3, 4), (4, 0) is :

A. (3, )
5

2

https://dl.doubtnut.com/l/_VL5yhmjCE32V
https://dl.doubtnut.com/l/_OVg2wMLBD65K
https://dl.doubtnut.com/l/_2PJuerGaTb3R


B. (3,12)

C. 

D. (3,9)

Answer: C

Watch Video Solution

(3, )
3

4

256. Let  be the vertices of the triangle .

The point  inside the triangle  is such that the triangle 

 and  are of equal area. The coordinates of  are

A. 

B. 

C. 

D. 

Answer: C

O(0, 0), P (3, 4), Q(6, 0) OPQ

R OPQ

OPR, PQR OQR R

( , 3)
4
3

(3, )
2

3

(3, )
4
3

( , )
4
3

2

3

https://dl.doubtnut.com/l/_2PJuerGaTb3R
https://dl.doubtnut.com/l/_1JoHGkVexjSD


Watch Video Solution

257. Consider three points

, where . Then:

A.  lies on the line segment 

B.  lies on the line segment 

C.  lies on the line segment 

D.  are non collinear

Answer: D

Watch Video Solution

P ≡ ( − sin(β − α), − cos β), Q ≡ (cos(β − α), sin β) and R ≡ (cos β −

0 < α, β, θ <
π

4

P RQ

Q PR

R QR

P , Q, R

258. A straight line L through the point (3, -2) is inclined at an angle 

to the line . If L also intersects the x-axis, then the equation

of L is :

60∘

√3x + y = 1

https://dl.doubtnut.com/l/_1JoHGkVexjSD
https://dl.doubtnut.com/l/_zHHN9ic82FFv
https://dl.doubtnut.com/l/_MnFwUn41VHef


A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

y + √3x + 2 − 3√3 = 0

y − √3x + 2 + 3√3 = 0

√3y − x + 3 + 2√3 = 0

√3y + x − 3 + 2√3 = 0

259. The locus of the mid-point of the portion of the line

, which is intercepted between the axes is :

A. 

B. 

C. 

D. 

Answer: B

x cos α + y sin α = p

x2 + y2 = 4p2

+ =
1

x2

1

y2

4

p2

x2 + y2 =
4

p2

+ =
1

x2

1

y2

2

p2

https://dl.doubtnut.com/l/_MnFwUn41VHef
https://dl.doubtnut.com/l/_wOrbGEDevpRm


Watch Video Solution

260. A line  has intercepts  and  on the coordinate axes, when the axes

are rotated through an angle  keeping the origin fixed, the same line 

has intercept  and 

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

L a b

θ L

p q

a2 + b2 = p2 + q2

+ = +
1

a2

1

b2

1

p2

1

q2

a2 + p2 =
..
b

2
+ q2

+ = +
1

a2

1

p2

1

b2

1

q2

261. A straight line through the point A(3, 4) is such that its intercept

between the axes is bisected at A. Its equation is :

https://dl.doubtnut.com/l/_wOrbGEDevpRm
https://dl.doubtnut.com/l/_BzzFedZXwp5u
https://dl.doubtnut.com/l/_nTR22Ulan8az


A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

x + y = 7

3x − 4y + 7 = 0

4x + 3y = 24

3x + 4y = 25

262. The perpendicular bisector of the line segment joining P(1, 4) and

Q(k, 3) has y-intercept -4. 

Then a possible value of k is :

A. -2

B. -4

C. 1

D. 2

https://dl.doubtnut.com/l/_nTR22Ulan8az
https://dl.doubtnut.com/l/_2PQctSOCB4qA


Answer: B

Watch Video Solution

263. The line L given by  passes through the point (13, 32).

The line K is parallel to L and has the equation . Then the

distance between L and K is :

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

+ = 1
x

5

y

b

+ = 1
x

c

y

3

17

√15

23

√17
23

√15

√17

https://dl.doubtnut.com/l/_2PQctSOCB4qA
https://dl.doubtnut.com/l/_CqV0aFoMzu5F


264. Angles made with the  -axis by two lines drawn through the point

(1,2) and cutting the line  at a distance  from the point (1,2)

are

A.  and 

B.  and 

C.  and 

D. none of these

Answer: C

Watch Video Solution

x

x + y = 4
√6

3

π

6

π

3

π

8

3π

8

π

12

5π

12

265. If  be in A.P, then  represents

A. a single line

B. a family of concurrent lines

C. a family of parallel lines

a, b, c ax + by + c = 0

https://dl.doubtnut.com/l/_S1wt8bu80jZz
https://dl.doubtnut.com/l/_Bt2xahen4Oen


D. none of these

Answer: B

Watch Video Solution

266. The circumcentre and the centroid of a triangle are (6,2) and (3,3)

then orthocentre is

A. (-3,5)

B. (-3,1)

C. (3,-1)

D. (9,5)

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_Bt2xahen4Oen
https://dl.doubtnut.com/l/_0NXfkEW5b4sJ


267. If the sum of the distances of a point from two perpendicular lines in

the plane is  then its locus is

A. a circle

B. an ellipse

C. a hyperbola

D. none of these

Answer: D

Watch Video Solution

1,

268. Let  be distinct positive numbers. Three lines 

 and  are concurrent,

if

A. 

B. 

p, q, r

px + qy + r = 0, qx + ry + p = 0 rx + py + q = 0

p + q + r = 0

p2 + q2 + r2 = pq + qr + rp

https://dl.doubtnut.com/l/_WJvPnjdkx16J
https://dl.doubtnut.com/l/_v9fJ3PB8EpjT


C. 

D. none of these

Answer: C

Watch Video Solution

p3 + q3 + r3 = 3pqr

269. Let  and  

such that  where  are constants, then

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

0 ≤ θ ≤
π

2
x = X cos θ + Y sin θ y = X sin θ − Y cos θ

x2 + 4xy + y2 = aX2 + bY 2 a, b

a = − 1, b = 3, θ =
π

4

a = 1, b = − 3, θ =
π

3

a = 3, b = − 1, θ =
π

4

a = 3, b = − 1, θ =
π

3

https://dl.doubtnut.com/l/_v9fJ3PB8EpjT
https://dl.doubtnut.com/l/_qQ5zmcTfCELb
https://dl.doubtnut.com/l/_ma9SVgNLkjUq


270. The equation of a line passing through the point of intersection of

 and  and perpendicular to one of them is

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

x − y + 1 = 0 3x + y − 5 = 0

x + y + 3 = 0

x − y − 3 = 0

x − 3y − 5 = 0

x − 3y + 5 = 0

271. The equation of one side of a rectangle is  and the

coordinates of two of its vertices are (-2,1) and  Then the area of

the rectangle is

A. 20 sq. units

B. `40 sq. units

3x − 4y − 10 = 0

(2, 4).

https://dl.doubtnut.com/l/_ma9SVgNLkjUq
https://dl.doubtnut.com/l/_Of1e6YZ9t6OZ


C. 10 sq. units

D. 30 sq. units

Answer: A

Watch Video Solution

272. A line passes through (2,2) and is perpendicular to the line

 Its y - intercept is _______

A. 

B. 

C. 1

D. 

Answer: D

Watch Video Solution

3x + y = 3

1

3

2

3

4
3

https://dl.doubtnut.com/l/_Of1e6YZ9t6OZ
https://dl.doubtnut.com/l/_9qz4GsKhX94o
https://dl.doubtnut.com/l/_V5dpetBs3u5A


273. The range of values of  in the interval  such that the points

(3,2) and  lie on the same side of the line  is

A. 

B. 

C. 

D. none of these

Answer: A

Watch Video Solution

θ (0, π)

(cos θ, sin θ) x + y − 1 = 0

(0, )
π

2

(0, )
π

4

( , )
π

4

π

2

274. If the point (a, a) falls between the lines , then :

A. 

B. 

C. 

D. 

|x + y| = 2

|a| = 2

|a| = 1

|a| < 1

|a| <
1

2

https://dl.doubtnut.com/l/_V5dpetBs3u5A
https://dl.doubtnut.com/l/_auP06KHgOWvt


Answer: C

Watch Video Solution

275. If the point  lies on the line  and the point 

 lies on the line , then the equation of the line  is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

P (a, b) 3x + 2y = 13

Q(b, a) 4x − y = 5 PQ

x − y = 5

x + y = 5

x + y = − 5

x − y = − 5

276. The bisector of the acute angle formed between the linex

 and  has the equation4x − 3y + 7 = 0 3x − 4y + 14 = 0

https://dl.doubtnut.com/l/_auP06KHgOWvt
https://dl.doubtnut.com/l/_yuiiGP65QtRf
https://dl.doubtnut.com/l/_RCceuYq0hRZS


A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

x + y + 3 = 0

x − y − 3 = 0

x − y + 3 = 0

3x + y − 7 = 0

277. Circumcentre of the triangle formed by the lines xy+2x+2y+4=0 and

x+y+2=0 is

A. (-1,-1)

B. (0,-1)

C. (1,1)

D. (-1,0)

Answer: A

https://dl.doubtnut.com/l/_RCceuYq0hRZS
https://dl.doubtnut.com/l/_t205K51pLYXL


Watch Video Solution

278. Point  is symmetric to  with respect to the bisector of

the first quadrant. Then, length of  is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

Q
––

P (4, − 1)

PQ

3√2

5√2

7√2

9√2

279. The coordinate axes are rotated about the origin  in the counter

clockwise direction through an angle  If  and  are the intercepts

made on the new axes by a line whose equation referred to the original

axes is  then 

O

60∘ . p q

x + y = 1 + =
1

p2

1

q2

https://dl.doubtnut.com/l/_t205K51pLYXL
https://dl.doubtnut.com/l/_dWw5Zn3QtmQE
https://dl.doubtnut.com/l/_FHWIMehOIsIy


A. 2

B. 4

C. 6

D. 8

Answer: A

Watch Video Solution

280. The area of the quadrilateral formed by two pairs of lines

 and  is

A. 

B. 

C. 

D. 

Answer: A

l2x2 − m2y2 − n(lx + my) = 0 l2x2 − m2y2 − n(Lx − my) = 0

n2

2|bm|

n2

|m|

n

2|lm|

n2

4|m|

https://dl.doubtnut.com/l/_FHWIMehOIsIy
https://dl.doubtnut.com/l/_VMS4w0axUqvy


Watch Video Solution

281. The transformed equation of  when the axes

are rotated through an angle  is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

x2 + 6xy + 8y2 = 10

π

4

15x2 − 14xy + 3y2 = 20

15x2 + 14xy − 3y2 = 20

15x2 + 14xy + 3y2 = 20

15x2 − 14xy − 3y2 = 20

282. The value of  for which the lines

 are concurrent

is

k

2x − 3y + k = 0, 3x − 4y − 13 = 0, 8x − 11y − 33 = 0

https://dl.doubtnut.com/l/_VMS4w0axUqvy
https://dl.doubtnut.com/l/_RtL9A8ih8SXy
https://dl.doubtnut.com/l/_tM5SN1VOftKv


A. 20

B. -7

C. 7

D. -20

Answer: B

Watch Video Solution

283. The transformed equation of  when the

coordinate axes are rotated through an angle of  is

A. 

B. 

C. 

D. 

Answer: B

3x2 + 3y2 + 2xy − 2 = 0

45∘

X2 + 2y2 = 1

2X2 + Y 2 = 1

X2 + r2 = 1

X2 + 3Y 2 = 1

https://dl.doubtnut.com/l/_tM5SN1VOftKv
https://dl.doubtnut.com/l/_9x4MvmjFr71o


Watch Video Solution

284. The distance of the line  from the point (1,1) measured

parallel to the line  is

A. 

B. 

C. 

D. 6

Answer: A

Watch Video Solution

2x − 3y = 4

x + y = 1

√2

5

√2

1

√2

285. The base vertices of an isosceles triangle  are  and 

 The vertex  can be

A. (1,6)

PQR Q = (1, 3)

R = ( − 2, 7). P

https://dl.doubtnut.com/l/_9x4MvmjFr71o
https://dl.doubtnut.com/l/_bN4rGHUDwgGZ
https://dl.doubtnut.com/l/_yvDocXsnyJiA


B. 

C. 

D. none of these

Answer: C

Watch Video Solution

( , 5)
1

2

( , 6)
5

6

286. A ray of light coming from the point (1, 2) is reflected at a point A on

the x-axis and then passes through the point (5, 3). The co-ordinates of

the point A are :

A. 

B. 

C. (-7,0)

D. none of these

Answer: A

( , 0)
13

5

( , 0)
5

13

https://dl.doubtnut.com/l/_yvDocXsnyJiA
https://dl.doubtnut.com/l/_EQiMwaQJpD6X


Watch Video Solution

287. The equation of the bisectors of the angles between the linex

 are

A. 

B. 

C. 

D. none of these

Answer: C

Watch Video Solution

|x| = |y|

y = ± x, x = 0

x = , y =
1

2

1

2

y = 0, x = 0

288. Orthocentre of the triangle formed by the lines  and 

 is

A. 

x + y = 1

xy = 0

( , )
1

2

1

2

https://dl.doubtnut.com/l/_EQiMwaQJpD6X
https://dl.doubtnut.com/l/_uhwK4RzU7WqN
https://dl.doubtnut.com/l/_Vecd0XTd2SgC


B. 

C. (0,0)

D. 

Answer: C

Watch Video Solution

( , )
1

3

1

3

( , )
1

4

1

4

289. If the points  are the

vertices of a triangle, then the triangle is

A. angled

B. isosceles

C. equilateral

D. none of these

Answer: C

Watch Video Solution

A(1, 1), B( − 1, − 1), C = ( − √3, √3)

https://dl.doubtnut.com/l/_Vecd0XTd2SgC
https://dl.doubtnut.com/l/_a8XU2KQZv6Y3


290. The straight lines  and 

form a triangle, which is :

A. angled

B. equilateral

C. isosceles

D. none of these

Answer: C

Watch Video Solution

x + y = 0, 3x + y − 4 = 0 x + 3y − 4 = 0

291. The lines  and  are concurrent,

if

A. 

B. 

ax + by = c, bx + cy = a cx + ay = b

a + b = c

b + c = a

https://dl.doubtnut.com/l/_a8XU2KQZv6Y3
https://dl.doubtnut.com/l/_2IqB2kvMzcTc
https://dl.doubtnut.com/l/_HnrZ8mZjI6BB


C. 

D. 

Answer: D

Watch Video Solution

c + a = b

a + b + c = 0

292. The area enclosed within the curve  is

A. 1 sq. unit

B. 2 sq. unit

C. 3 sq. unit

D. `4 sq, unit

Answer: B

Watch Video Solution

|x| + |y| = 1

https://dl.doubtnut.com/l/_HnrZ8mZjI6BB
https://dl.doubtnut.com/l/_aojjsteeKMG6


293. The equation of the bisector of the acute angle between the lines

 and  is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

3x − 4y + 7 = 0 12x + 5y − 2 = 0

99x − 27y − 81 = 0

11x − 3y + 9 = 0

21x + 77y − 101 = 0

21x + 77y + 101 = 0

294. Locus of centroid of the triangle whose vertices are

 and (1, 0), where t is a parameter, is :

A. 

B. 

C. 

(a cos t, a sin t), (b sin t, − b cos t)

(3x − 1)2 + (3y)2 = a2 − b2

(3x − 1)2 + (3y)2 = a2 + b2

(3x + 1)2 + (3y)2 = a2 + b2

https://dl.doubtnut.com/l/_EP2UWKEweTin
https://dl.doubtnut.com/l/_qqfBhm9xhMl2


D. 

Answer: B

Watch Video Solution

(3x + 1)2 + (3y)2 = a2 − b2

295. If the foot of the perpendicular from the origin to a line is at the

point (3,-4) , then the equation of the line is

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

3x − 4y = 25

3x − 4y + 25 = 0

4x + 3y − 25 = 0

4x − 3y + 25 = 0

https://dl.doubtnut.com/l/_qqfBhm9xhMl2
https://dl.doubtnut.com/l/_jkuvTQ1GehdF


296. The distance between the lines  and 

 is

A. 4

B. 16

C. 2

D. 8

Answer: D

Watch Video Solution

5x − 12y + 65 = 0

5x − 12y − 39 = 0

297. One of the possible condition for the three points  and 

 to be collinear is

A. 

B. 

C. 

(a, b), (b, a)

(a2, − b2)

a − b = 2

a + b = 2

a = 1 + b

https://dl.doubtnut.com/l/_NFULjMcdbcu2
https://dl.doubtnut.com/l/_4bZZRTnmMDiS


D. 

Answer: C

Watch Video Solution

a = 1 − b

https://dl.doubtnut.com/l/_4bZZRTnmMDiS

